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dfrer e 3R favara H e BT W&
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A. ST 3R AT B. &, fareama 31 3marm
C. 37 IR Ty D. &5e7 3 arfere
2. 89 3R faRare <y FgT o IR & F47 Gi1d feam T g??
A. 3 g 7 37ATaTF B .
B. I AWl & foIU TR ¢ |
C. & 379eY & T UToT el oh TolT HTILTh g |
D. I shael AT aRTEufaat 1 & Ageaqul §131. e, aRTEITAAT 3R 3maeh ol 3 &
S9N T hd AT ATRT?
A Teg IR o B. gOTT 3R #AehRTcH g3 &
C.HIIRITY D. 35odel 3N HhRIcHS Tgef3il &
4. TohE 3UHAT T 3T oilcquT [EATIAT H HhRIcHS ST I HET bl STclled
% fore forar R g7
A. HISATSTT T 3T HLaAT
B. Shici & ST Fooll & UTeTell
C. 3TUSR &I Teh G o 9 H AZUT FlaT
D. ¥REdTeT & fARTeT & Uies HeTeT
5. SRECCT ATCAT o TeTT 3ugeret 2fieh ol TeATa hi?
A. 31T AR faeara & Agea &1 der
B. SfiaeT o o168 I wife & forw &
C. HATS H ITTOTS HT Y7 G
D. ThRTcHR T 3T FTIT: 3T 3R fareara
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6. I SR Jaehl bl AT Siidet Sfiet & gl & Sil-
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C. el &1 el ATl JE AN JATE D, i qY & FHY A€ o AT &
7. 9eTe H R EIH HEl -T2

A. TceTd B. R

C. 7T D. Iy
8. "It AGT faordY o Teer A Y1 AT FAT A 82
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B. FHGY 3R HBeldT & foIw G &t arelr Heer

C. T & a1y A Sy Fr Terg
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11. 37 O ThE a1 H 31 fhaT 8?
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14. ST UGT AT AsET o AT W Fo1T ATERT IS, FAT Thgolldl &2
A Tf B. THTH C. 3999 D. 9
15. ‘FJATFGHAT PioT-AT GHAH 872
A. IeTATHTa B. AR C. dcqey D.agd’ﬂ%
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(1X4=4)
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25. 9¢ o AT T STTIN TS 93T T Y 3g A?

AT B.AMIZY
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27. 3797l S T Teitg et &
A. Ge 3R F1Tsa arelY B. BT &l TATT o781 IWaT aToll
C. B T QT J&T &hde] aloll D. 93T &l GFHTA o ey dToly
28. ‘ST T FAT T §?
A. HieT B. ATAT
C. g D. Hee ™
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(FoTATcHS 9es)
3rfey o e et

rafaf@d geat & ¥ fFegl g T2 & 36T ITsTT 40 Qree) 3 o (2X6=12)

(31) SheesT Hfc T TLHT TR-IR AT el Sl 82
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(38) HITAHR & ATETH U H1d o fohd T o caTFddl &1 31X Gohed fharg?

CLECHDRET]
Arafaf@d geal 7 A gl og T2aY & 3T oT9T919T 60-60 sl H &: (3X6=18)

39. GTeTdTel I IWIAT JEId HITST|

40.1Geh o BT Jooh I ATAY HBUT hl feed THS' 4T el 82
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43 HfJ dTeel ¥ PR, RATTH A1 a8 & T R IR o [T g g, #4i?

44,319 TaAR & AT ¥ VAT FAT HeT Toh oI5ehT glAT I ST Sidi! GETS Fc Sall?

45T ATH AT AT H AGTIT I3 A TEhT I Tohd IR TFAITET I IgT AT?

46aTFYT [l pEd &2 TIAT & TR W ATFT & AT & AT ford |
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. frfaf@a weat & 39X J9rerer 100 2red) # AT (5X2=10)
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SIRAIUS IISID 3fofRielol ud Ufd1sr ufdvg, et [aftfe u3le] [31:2023-2024]  Page 6 of 8



48. &HolH Jallal ATell haTail ahl 31 T STITHT 50 AT H Teh [aATIA AR HIfST|
. fafaf@a weat 7 @ oY U weaT &1 36T oT9T97eT 100 ereei H ST (5X1=5)

50. ‘3R 2WA-ET-WA 7T fEoall T HIATTIE BleY T3~ TS ool & SHIATTIC & ToIT FT-
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gfaeel wes 97 (2023-2024)

eTT-10 farr- fger «r HHY- 36T quiieh- 80

AT A=

Tt FUTEYT ST qreal # ST R

ooft wor srfRaTd €

FA T it &A1 52 €l

w7 1 & 30 TF TEARCTT TT & | TS T F 91X fAweq w7 §) a5t Rwew #7199+

FSA TAF T * o o i ReiRa g

o WF HEAT 31 ¥ 38 T Afd oY ST T gl e & Y 6 0t 7 I 37 AfAard 2
TAH T &1 71 2 3 FAeiiRa g1

o WF HEAT 39 ¥ 46 TF &g ST T g1 Foraw & gt 6 w1¥ 1 I A7 AfFa 81 ;=
=T T 7T 3 3t FAeiiRa g1

o WY HEAT 47 ¥ 52 & ITOT ¥ 81 =gl 4 I 7 S A7 A 81 TAF T FT /T

5 siw et 8
(agﬁa»—«cmr T2)
(3rafea aren)

frafaf@a remer I taeqEs Teat U8 7T weal & forw 7@ Reew &1 aae #31 (1x5=5)
AR A Tcdeh a& 38 AT deh eI &, o518 W deh ag Siiae 1 fafaerdr & @y arseg
F fAeAT-TAeaT Y 81 37T TATY T g5 g 1 R_faerar & sareg aesy & foar a=
3T TAUTT 3UTET g &Y 9T 3R Y 8 o 38 Sfaet i T g1 et 3R Siaet &
Foid TN & T4aAT herel e T Tehd Y ol T deT TRUTTH RIS 8, Si #ieh-Ea & Fiee
T E3T T &

HOR # T 3118 &3+ gg ogidhd § [Seel Turd & Hicad YaT HT Tehe oY ke
HTISHR Y STe, FiTeh 38 T o HosF bl ARY FRAT bl Yed-TFof L T SARAR &1 A T el
fra o SiTat & ahlet-alet H 1Xeh ITGT SiTeT ofaTT | SHeh SURI 38 JUTY o 37chol EUET T YoiTs]cl
Y S TG HSITeAT UST fob HIsF 38 WiTel o TIT Sitare ahi Teveet-fieeT hdet ofa |
1. 39 I H ford 1 & i G fanam arar g?

A. Jefir e e & ufd B. e TelT o 31faveh & ufd
C. TUTY &Y Thial ifFeaiard & afa D. Hleed & fRew » ufa

SIRAIUS IISID 3fofRielol ud Ufd1sr ufdvg, et [arftfp u3lelr]  [351:2023-2024]  Page 1 of8



2. GeX ag g ol AT |

A. SIITETT B. HIHIET C. GH=ag D. fafeet
3. TIH &Sl ST TFd hleT &7

A. Tlecd T dNcH & TEI T et dTel

B. AHcH T Tl ATehI0T el dTell

C. FUTY o TOIT &9 el et dTel

D. el ! JUTY TG H FEJ T el dTel
4. Gieed e 3TAEN grar g?
A. TS Sitdet &1 T fAerar g C. ST FHedaT I T8 fAerarg
B. STl e fer ol T9LT TAeTcT & D. ST& HTG=AT T TILT fHeIar &
5. Toh e SUAT T 3TN YA ATOT R & HhRIcHDAT GG hl HET h
STaTet & fore fopar arar g2
A. SISATSIT I 3T hLaAT
B. e & ST Fell &l UTelell
C. 3YFHR I Ueh A & T H AGUT AT
D. X3eaTer # fARTeT & I 19T
Y TG Y EATAYdH TghT IS T TRaAT 3 FIT HEY 36 T T4 H1(1X5=5)
T3-5IR GeAgT feAeheT,
¥ Tl HaNT T,
-3 Fade- 1IN faereT,
Her AT T Faer|
ATSAIT 3tell GIsT,
FT-FaT FoT AT SGEA.
HEFNT a7 & T,
TINT &5 T8 R,
&Y Dol GTITT gM/e//I
6. UTcl:Shlelle] G I Hid fohd &7 H S@ATE?
A. TRT 81 W Fehelsl Tl G H &I H B.#iIN&TIH
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C. AR W h &I H D. G T oh HR & &I &
7. ‘et forgert TaIar= 72

A. EieT B. C. HgleTdT D. 37TeRTer
8. 33TTel I Shid HAT TATAT 82

A. AT AR AT 37 B. &l3T 3R #ATeTaT g3

C. 73T AR elgar g3 D. ¥l 31 foererer g3m

9. &4 & 3Tt ITTet { JAY TR HaT Fe7Ta IsT?
A. €AY ST SHUT-RUT SATeT 31T
B. gaT Tefel o1aft 31N eRY THeT 81 9718
C. &Rt & SHUT-HUT A FINd eafad gr genr
D. &l o Haflel ohl GeToh{ AT #ilG, citg &
10. 38 Hiddr & foIw gaTere 3ugerd e Far 52
AAHIEHA B SR A Heed  C.IMHABIET D oot 3R exelr
(ST
afaf@d Teat & 98) Aweq #1939 S| (1X10=10)
11.. RT-AR & 37 fo@ 317 § T8 [Ahed ol e -
A. TE, AT B. ST, qXT=AT
C. Tcd, a¥d D. H&X,
12. I T TATIARY e Fafaf@a & O ia 781 geme
A. ifrer B. QITAT
c. =+ D. W
13. ‘HCHTeIe’ & Y [d=oe el fed & @ Sia-arg?
A. HCHT+31TeG B. MG +5G C. HCHT+3G D. HCHT+3TelcT
14, ‘3137 ST BIAT HETART b7 He1 378 o1l # & slaT-ar gram?
A.ag?rgr@rram B.ag?rtmm C. 31137 STATAT D. T Bl
15. &I’ Qsc; H T SUHT T JATT hieh GR&T g, =T &2
AT B.g c.ar D.f&
16. ‘STABRT 2AeE, H S’ TcTH o19TTel T AT 2ASG, hioT-AT TIdTT?
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A. sfagi@s B. Ufagi & c. efagras D. g
17. SIS 3ATAATRT ST & STST AT I IFold o1 Gehs for’ ToeAT oh 3R 9 arerg

qgTet-

A. T3l a1 B. THYF AT c.Axay D. 39dTeFy
18. "IT9-qUI’ AT UE H hled-TT TAH g2

A. 3T ATT B.gdcd c.ag—qﬁ% D. &faqT
19. 3TSTIEY &7 faed fAeafaf@a & T Fargem?

A. TG B. TaTHCAl C. e D. A

20. ‘BIAgR favaTsT & gid kel U’ dilehlforet ohT HeT 372 T gIom?
A. ST FETT 81 & 3eTh gfasm sau= F &Y fe@rs usdr g
B. ST HGTeT 81 § SeTehl ST 93 gl WX fe@rs usci &
C. S AT Y & SeTehr gfasm a1e # fe@rs uschr ¥
D. ST HET g1dt & 3TehT Uiaist hsfl-haft ears uschr &

(TfSe TeTer T e
Y IGIIT Y ETYEF YGHT & T FRaAT & frT Fe 3o &7 T
(1X4=4)
IR &7 JING TTHN SR-3%
HeG H -1 3afold H7
HIA I A3 & Gav
SR & 51T 1 5171
fIRGY & 3N & 3838 #7
FTarFIgn & Tea7
& 571 T8 ANa T T
HIAHY, e, F& AT |

21. 94T T BT IR TgeT aTel 3ol ohd I IQ 872

A. QT STl & FATA B. g&il o FHTT

B. ¥ & THTA D. At r I3t & gaeT
22. TR garT foraent kg a1t foraT ST X@T 82
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A. 9ddY &t B. UST & T c. gfaray &t D. GRI31T T
23. ‘ToaT HTFATHTE?

A.ag?r"ﬁrr:ﬁmer B.ag?r"’ﬁqwﬁ

C. 9gd 39 & D. Sge Sy a7y
24. et fREHT 1T M7 HT T2

A. 3T 9adi &hT B. A&T SIRaAT T

C. 3ThTer Ffe AT D. HeIST $3a I

Y ST Y EATAYEF YT T 71T wett & e we 3o 1 a7 :
(1x4=4)
TITH' hY HEH[T Aholcll o ToTehqY H 16T HTcATIRaH 3R fem R 36 Ueh A1y uR oAl &

fRHTOT & ST - A ATH SR, 315fedr, H 3R AW A’ 3N TegH, e ez | W
1965 H TSThYT o "R &ATH SiehT’ T FAHTOT RS T I FHAT: 38 3 Ig FHodail oAgh
g1afT foh 58 fhed T Uah &Y HI9T Ie1Tel H B a1 ol I 19T ST |

3T O T oh TeTel H FehT G AT g hedt TaRRId g3, [FeTdt T 1966 H TafRIa
ohid Qele T e Swaa off A &1 TE T8 [Thod & ToTaH TeTh R o YT Siidel Sl Hafchse
3TfFhT 37T |

25. foha fthes o STe; TSThYY JMTcATIRaTd & 81X TT?

A. AT TH S B. HITH C. 375TdT D. TcgH RIaH A
26. ‘FRT ATH SAHT T TTATOT el 3TRET fohar arar?

A. 1965 B. 1966 C. 1967 D. 1968
27.1966 3. 7 HIJ Aoy Y HleT-AY v TefRia gg?

A. TITH B.AUTAA G C. A »aH D. TcgH RIaH A
28. TEN HHHA' [Whod F fohdlel 3= Siaet sl Hafcerse s{fAT femg?

A. TSTehgY B. doleg C. GH D. SoTH IS oTal
fafaf@a weat & fore T 3o3 F1 93 F (1X2=2)
29. ST Y T ST & & H SdTol WST &l 31T UT?

A. ST e H T gl & B. FTCITSM 1 3154 Jollel @

C. GIEdl h AT Weled I D. 4T TR &
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30. STRYSRY o YTt I1Td dTeil oh Hel H FAT 82

A. IR ST B. gOT C. AR D. 9H
(TOTATcHS vesT)
31fey o 3o et
. Fafaf@a weal &7 & el og W2t & 30X o9 40 ereal A & (2X6=12)

(31) HréY aroft e @ 3R 1 G@ 3R 3791 T Y cTerelr Ha gree gl 72
(32) FafAY foraent 921 Tl e et a1g TEr &?
(33) O TEHATCIT T §HA o Fehed [T, 5T UTehcd & QAT fohat ST T Teheh 82
(34) ‘3TTcHITOT &iddT & Hid Fad 3 Far I FT | E?
(35) T3 TS ATEd BIC HTS W gL HAY Tgell HaTel 4T o A?
(36) ShoTehdlT ATTAAT o oI 26 STeTadl 1931 T a1 AT HgcaquT AT?
(37) Y FeAT 3R Tl T ST 3T 4T Gl &2
(38)1431??@%%@31@@%?%1&6@@%%?
CLERDRLE ]
. rafaf@a veat & ¥ g afa wea) & 3o 99T 60-60 ersgT 7 &: (3X5=15)
39. FHRISTS o HUT o & HiG i quTeT Sl feharr g2
40. ‘FATSTAT HIACT & HTETH Y id AT HR GolT ATBAT 62
41. FHYAT ST H WY IS AT FAT T/ ST g7
42. IHRY @ AT & 91E ATaRT & S & 4T 9RddsT 3TT?
43, ‘FRFEIT gl o ATETH T TATS i fohet TageTfai o g7 fohar T g2
44. 39 TR @ leT-8 T/ Hed § i AT §? TAATH FAY H o7 Hed! bl TrHTAehdT T8
AT
frrafaf@a weat & @ ) T WeaT T 36T oT9T979T 60 2Mea 7 &: (3X1=3)
(45) G 3R AT 7 37X TS FY
(46) 2reg; 3R UG H 37 TISC Y |
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e 3T geA

fArafaf@d weal & ¥ freel aY weaY & 3w 9re19T 100 2rsel & fAT| (5%2=10)
(47.) &G FIHT Y AT 3R 31T H1S T & S FIT 9T o3
(48) Ul & T feeT Uts o MR 9 O & TR Fr iR fAwan3it o3 weprer siferv|
(49) EYY 3TN ST T GIET 3eTIT-37eldT FHolgd i ST & &, I Teh 3HeAolTel 3

Red O 99 | 37 AT F 3Tl H 319 foar faf@w]
few arv wFa Regat & smur W fArafaf@a & @ fndlt ve R ox wremsrer 150 ersal #F e
IGICCLS 5

(50) et freedf - Fehet feig- el s 379, Tzt & ayor-foram,
3TIRITE, HeT Siidet 3¢ fauR; 3UHgR
(51) ToreaTery TaREET FRFH- Heohdl Teig- AT, [T Tareey SRisH
I 36T, RN G hr AT, 7181, ITHER
52. 3797 faEATer & AT¥HIcHd H AT (U ol AT el o TolT Tl HAG T IR T
Teh e 97 ferf@u| 5
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JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI
MODEL QUESTION PAPER
2023-2024

CLASS -10 SUBJECT - ENGLISH
TIME - 03 HOURs FULL MARKS: 80

General Instructions:-

e Candidates should answer in their own words as much as possible.

e All questions are compulsory.

e Total number of questions is 52.

e Question No. 01 to 30 are multiple choice questions, each question has four
options. Select the correct option. Each question carries 01mark.

e Question numbers 31 to 38 are very short answer questions. Out of which it is
mandatory to answer any 6 questions. Each question carries 02 marks.

e Question numbers 39 to 46 are short answer questions. Out of which it is
mandatory to answer any 6 questions. Each question carries 03marks.

e Question numbers 47 to 52 are long answer questions. It is mandatory to
answer any 4 questions. Each question carries 05marks.

Read the passage given below carefully and choose the correct options to
answer the questions.

One of the greatest values of punctuality is that it gives discipline to life. We
have to get up in time. We have to do things at the appointed time. All these
entail certain amount of sacrifice. It dispels Laziness and removes our take-it-
casy attitude”. A discipline person always gets recognition and social
acceptance. He is wanted and appreciated. Therefore, punctuality can make us
socially acceptable people. The virtue of punctuality is said to be the key to
success. Lack of punctuality affects a man’s life in various ways. If people of
various occupations like teachers, students, politicians, etc., become punctual,
the country would develop in multiple ways. It would bring glory and a bright
future to the country. Look at the great world leaders who have achieved fame
and success. Punctuality was their hall mark.

1. Lack of punctuality affects man’s life ----

(a) Meaning full way (b) Various ways (c) randomly (d) None of these

2. Who gets recognition and social acceptance ?

(a) a person who is not disciplined (b) a person who is discipline

(c) a person who sacrifices (d) a person who is lazy.
3. Advantage of punctuality is ----
(a) It makes life disciplined (b) It makes life great
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(c) It makes life easy (d) It makes life valuable.

4. One word for take- It- easy attitude is ----

(a) Safe (b) Laze (c) Calf (d) careful

5. Punctuality is considered as a symbol of ----

(@) World leaders (b) Great saint (c) Lazy people  (d) None of these
6. Synonym for ‘goodness’ is

(a) entail (b) recognition (c) virtue (d) Key
7. Antonym for success is.
(a) values (b) dispels (c) failure (d) certain

8. What bring glory and a bright future to the country ?
(@) Punctuality (b) careless people (c) Laze people (d) None of these

Choose the correct option and answer the following questions.

9. The indirect speech of .. He said to me, “ I am writing a letter”

(a) He asked me if was writing a letter (b) he told me that he was writing a letter
(c) He told me that | am writing a letter (d) None of these

10. The indirect speech of. — The teacher said, “ The sun rises in the east.”
(a) The teacher told me that the sun rises in the east.

(b) The teacher asked me the sun rises in the east.

(c) The teacher said that the sun rises in the east.

(d) None of these.

| D P football for five years.

(a) has been playing (b) have been playing (c) am playing (d) was
playing

| 0/ God fulfill your wishes.

(a) May (b) Must (c) can (d) Might

| R you lend me your book.

(a) can (b) could (c) May (d) Might

14. ‘Manish is driving a car’ is an example of :-

(a) present continuous Tense (b) Present perfect continuous Tense
(c) Past continuous Tense (d) Future continuous Tense

15. He the place a few month back.

(@) Visit (b) Visits (c) visited  (d) visiting.

16. Change into negative sentence. “ He is poor.”

(@) He is not rich (b) He is rich (c) He is no rich (d) None of these

Read the passage given below and choose the correct option to answer the
questions.
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He failed to muster up courage to take that plunges which appeared to him so
desperate. His father and mother had come around calling to him shrilly,
upbraiding him, threatening to let him starve on his ledge unless he flew away.
But for the life of him he could not move.

17. Who is ‘He’ in the first line ?

(a) Lencho (b) Anne (c) Young Seagull (d) Mother
18. This extracts has been written by ----

(a) Robert frost (b) Mulk Raj Anand (c¢) G.L. Fuentes. (d) Liam O’Flaherty
19. What does the word ‘threatening’ mean here ?

(a) obeying (b) Smiling (c) frightening (d) Joking

Choose the correct option and answer the following questions.

20. What did the otter look like ?

(@) Small dragon  (b) Small cat (c) Small dog (d) Small goat
21. What is a country’s greatest wealth ?

(a) Its minerals (b) Its people (c) Its technology (d) None of these
22. What was Goutam Buddha’s early Name. ?

(a) Siddha (b) Sidhart (c) Sidha (d) Siddhartha
23. The baker from Goa was called.
(a) Pader (b) Daper (c) Rader (d) None of these

24. What are the two negative creatures that Robert Frost used as carriers
of positivity.

(a) Snow, dust (b) hemlock tree, crow  (c) Hemlock tree, snow (d) snow,
crow

25. Why should the tiger lurking in shadow ?

(a) Out of fear (b) Out of anger  (c) To catch the deer (d) Both (a) and (b)
26. What was Horace allergic to ?

(@) Dust (b) Smell of flowers (c) Pollen  (d) Milk

27. What did the doctor in the story “ A Triumph of surgery” advise ?

(@) Cut hisfood  (b) give him more exercise.

(c) Keep him on a very strict diet (d) All of these

28. Who is fowler in the story of “The Midnight visitor.”

(a) Secret agent  (b) Spy (c) personal investigator (d) writer

29. What type of man was Griffin ?

(a) Lawless person (b) brilliant scientist (c) Engineer (d) both a and b

30. What did Ramlal demand as dowry ?
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(@) Money  (b) refrigerator (c) television (d) all of the above

Reading
Read the passage carefully and answer any six of the following questions. 6x2 =12

The camel is the oldest of domestic animals. It has been used for thousands of years, by the
desert people of Africa and Asia to supply many of their needs. On the fertile edges of the desert,
camels pull ploughs, turn wheels to irrigate the fields. They also carry goods to market. In the desert
itself, they are still almost the only means of transport. They supply food, milk and clothing in the
form of wool and leather. This useful animal is well adapted to life in-harsh and dry lands. The
Arabian has one hump, the Bactrian camel has two. The hump is, in fact, a store of fat. It is used as a
source of energy when food and water are scarce. When it does drink, the camel can take up to 100
litres of water in ten minutes.

The camel has broad, soft feet for a steady grip in the sand. A thick skin
protects it from ‘the sharp daytime sun and very cold nights. The Camels eye have three eyelids to
help keep out sand. Its ears and nose are also adapted to keep out sand storms. Camels stand about
two metres high at the shoulder and weigh 500-800 Kilos.

Questions.

(31) How is the camel used by the people of Africa ?
(32) What does a camel’s hump have ?

(33) Name any two works done by the camel.

(34) What is the height and weight of camels ?

(35) Complete the following :
(a) This useful animal is well
(b) The camels eyes have

(36) Make sentences with the following words.
(a) Domestic
(b) Transport

(37) Write the synonym of given words.
(@) a lot of
(b) fruitful

(38) write the antonym of given words.

(@) Modern
(b) Hardly
Writing
VI. Answer any two questions in about 80-100 words: 2x5=10

39. Write a letter to your younger brother advising him to avoid bad company.

40. Write an application to the Headmaster of your school for arranging vocational classes.
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41. Write a paragraph on ““ Sports Day” OR “Health is wealth”.
Marks : 06

Grammar
42. Fill in the blanks with suitable Modals given below
(Can, Could, Must). 3x1=3

(a) We pay our taxes.
(b) 1 lift the box.
(©1 run faster when | was a boy .

43. Transform the following sentences as directed :- x1=3

(a) “She is too tired to play’’. : (Remove 't00")
(b) “A man cannot live forever, “ (Change into Interrogative)
(c) “Kalidas was not a great poet” ? (Change into Assertive)

Literature
Marks :22

44. Read the extract given below and answer the questions that follow :. 3x1=3

What is the boy Now, Who has lost his ball,
What, What is he to do ? | saw it go
Merrily bouncing, down the street and then
Merrily over-there it is in the water !

Questions :

(a) From which poem this extract has been taken ?
(b) Who has written these lines ?

(c) What has the boy lost ?

Answer any three questionsinabout60-80words. 3x3=9

45. Why was the young seagull afraid to fly ?

46. Where is coorg ? What is the main crop of coorg ?

47. According to Robert frost, what do ‘Fire’ and ‘ICE’ stand for ?
48. How is Ausable different from other secret agents ?

49. Who was Horace Danby and what kind of a person was he ?

Answeranytwoquestionsin about 120-150 words. 2x5=10

50. Write a character sketch of Matilda.
51. What made Hari Singh come back to Anil.
52. Paper has more patience than people. “Elucidate.
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Answer key

1.B
2.B 16. A
3.A 17.C
4.B 18. D
5. A 19.C
6.C 20. A
7.C 21.B
8. A 22.D
9.B 23. A
10.C 24.B
11.B 25.C
12. A 26.B
13.B 27.D
14. A 28.D
15.C 29.D

30. A
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3IRIAVS 9ISIPD 3relAeIrol Ud ufdrsgiur uf¥yg, it
aiftfes uzlem (2023-24)
JHiscT U1 UsI(Model Question Paper)

DEII- 10 fererr- srfora - 03 HeT quTic- 80
Class-10 Subject- Mathematics Time - 03 Hr. Full Marks-80
A1HI foIS9r:-
o u3ietreff 2renisna 3ol oreck 3 I S|
Candidates should answer in their own words as much as possible.
o 1t uat siforart 3
All questions are compulsory.
o el Ul bl AT 52 3l
Total number of questions is 52.
o Ul | A 30 AD IBIADICURI U%T 3 | Ul Usel b dR Ay f&u s 31 318l fameu
b1 TRIol ISR UIdb U%et & e 01 3idp forerifa 3l
Question No. 01 to 30 are multiple choice questions, each question has four options. Select
the correct option. Each question carries 01 mark.
o USGI ACAT 31 A 38 7D 3Ifel e STRRI Ul 81 {51191 A febodt 6 Uil DI 312 Soll
3iforart 31 Ui Ussl BT el 2 3ic foreriiyd 3l
Question numbers 31 to 38 are very short answer questions. Out of which it is mandatory to
answer any 6 questions. Each question carries 02 marks.
® UGl AT 39 A 46 D ofg IR Ul 31 FS11 A foboet 6 Uil DI 312 Soll
aifordart 31 Ul Ussl ol Alal 3 3idb forerifya 3l
Question numbers 39 to 46 are short answer questions. Out of which it is mandatory to
answer any 6 questions. Each question carries 03 marks.
o UGl AT 47 A 52 S ITRRI U1 31 fdbodl 4 Usell Pl 31 ol 3ifordr 81 Urdld

U1 I ol 5 3 forerifda 3
Question numbers 47 to 52 are long answer questions. It is mandatory to answer any 4

questions. Each question carries 05marks.
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1. 156 DI IS JUICRAS] D IUIeIBe] O U i [T SIT ADAI S :

()2 X3X7X11 (b)2 X2X3X13
()2X2X11X13 (d)2 X2 X3 X7x13
The prime factorisation of 156 is written in the form of :

(A)2 X3 X7X11 (b)2 X2X3X13
()2 X2X11X13 (d)2 X2X3X7x13

2. 6/15 DI G UAR AT 372

(a) Al (b) 3RAIA 3Mddl
(¢ ) 3IAI 3olracdit (d) Soldi 2 DIs olal
How is the decimal expansion of 6/15 .
(a) Terminating (b) Non-terminating recurring
(c) Non-terminating non-recurring (d) None of the above

3. o2t waug p(x) d fe1e a1 3napiet 9 f&=1 oR11 8 | dgus b oIl bl At foreot it
3 ol:-
(a)3 (b) 4 (©) 1 (d)5

The graph of a polynomial p(x) is given in the figure. Choose the number of zeroes of the

polynomial p(x) from the following :-

()3 (b) 4 (©1 (d)>5

4. fgaradsus x* - 7x + 12 ® o=AD! I Al fofeol 31 3 Joi :

(a) 6 (b) 7 (c)-7 (d)12
Choose the sum of zeroes of the polynomial x’-7x+12 from the following:-
(a) 6 (b) 7 (c) -7 (d)12
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5. 3Rao JeftpvIPed a;x + by + ¢, = 04 ayx + b, y+ ¢, = 0PI DIS &el

olal alerl,
At -
a1 _ by ‘1 Ga b1 _ <«
@) a; by * o) ®) a > b, o)
“ - bh_a @, bhya
(C) a2 - bz CZ (d) Cl2 :'t b2 #: C2

The pair of linear equations a,x+b,x+c,=0 and a,x+b,y+c,=0 will have no solution

ifi-
%= e wi e b=
il Ch
6. AHDII x —y+ 9=03MR3x—2y+ 12 = 0 D gRI foreta 3ars:
(a) Aurctt 3 (b) AR 8. (c) Ufercesct 8 (d) TIFEAA 3
The graphical representation of linear equations x-y+9=0 and 3x-2y+12=0 is :-
(a) coincident (b) parallel. (c) intersecting (d) perpendicular.
7. AHIDVIYEHA 2x +y=63R 5x —y = 1 PIaci 5 :
(a) x=4, y=3. (b) x=1, y=4. (c) x=4, y=1 (d) x=-1, y=8
The solution of the pair of linear equations 2x+y=6 and 5x-y=1 is:-
(a) x=4, y=3. (b) x=1, y=4. (c) x=4, y=1 (d) x=-1, y=8
9. forForfc1Rac i A dlal fGard Astiapur 82
(a) (x-3) =x"-7x +5 (b) (x+1)* =x" -5x+7
(c) (x+1)’ =2(x-3) (d) x*+4x +1 = (x+3)’
Which of the following is a quadratic equation?
(a) (x-3)=x"-7x +5 (b) (x+1)* =x" -5x+7
(c) (x+1)’ =2(x-3) (d) x*+4x +1 = (x+3)’
10. fard Jfidr x* + 7x +6 = 0 D Hcll DI UDKI S :
(a) AIFCATAD eI AHIol (b)dIZAlddD e AT
(c) JHATSL (d) aI¥AfAD oldt
The nature of roots of the quadratic equation x*+7x+6=0 is:
(a) Real and equal (b) Real and distinct
(c) Equal (d) Not real
11. afe fgard Apur x* -4 x + k =0 DI AT AdHTol 8l, I k DI Hlol BIGII:
(a) 3 (b) 3 (c)4 (d) Soldl 3 DIS olal
If the roots of the quadratic equation x’-4x+k=0 are equal ,then the value of k will be :
(a)3 (b)3 (c)4 (d) None of the above
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12. AP.:24,21,18,... DIAM 3RS :

(a)3 (b) -4 (©)5 (d)-3
The common difference of the A.P. : 24,21,18... is.
(a)3 (b) -4 ()5 (d) -3
13. AP.:2,7,12,...@I110dl UG 3:
(a) 245 (b) 47 (c) 52 (d) 57
10" term of the A.P.:2,7,12... is:
(a)245 (b) 47 (c) 52 (d) 57
14. AU B9[S O ABIA DIV ................ B8 |
(a) TRAI (b) AATGIUIAL (c) AT (d) clFaada

Corresponding angles of similar triangles are:-
(a)Equal (b) proportional(c) parallel (d) perpendicular
15. AABC 3 Ii& DE|[BC &I a2l BD =7.2 cm , AE =1.8 cm 312 EC =5.4 cm 8l dl AD I HIol
ORI BI9II?

(a) 21.6 cm (b)2.6 cm (c) 2.4 cm (d)3.6cm
In AABC if DE||BC and BD=7.2¢cm, AE=1.8cm and EC=5.4cm, then what will be the
value of AD?

(a)21.6 cm (b) 2.6 cm A (c)2.4cm (d) 3.6 cm

./ \.
VAR

16. AABC 3, AB=6V3 cm, AC =12 cm 302 BC =6 cm @I, Al BIVIB 2

(a)120° (b) 60° (c) 90° (d) 45°
In AABC, AB=6\/3cm,AC=12 cm and BC=6 cm, then value of ZB is :
(a)120° (b) 60° (c) 90° (d) 45°
17. feigaii (2,3) 3R (4,1) D dfadbi gl s:
(a) V6 ADID (b) 42 HABID (c) 3\2 APID (d) 2\2 APID
The distance between the points (2,3) and (4,1) is :
(a) V6 units (b ) 4\2 units (c) 3V2 units (d) 272 units
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18. ferogail (2,5) €1l (4,7) D1 f3TcTIol arcl RARGS I 3¢ feog &:

(a)(1,2) (b) (5/2,772)  (c) (3,6) (d) (6,12)
The coordinates of the mid-point of the line segment joining the points (2,5) and (4,7) is :
(a)(1,2) () (5/2,72) () (3,06) (d) (6,12)

19. =f& A(0,0), B(5,0), C(0,6) 8l, dl AABC I &I510bcl 3191l :
(a) 30 WIABID  (b) 15 oI AGID (c) 60 ddI ABID (d) o191 2 DIS oIdl
If A(0,0) B(5,0),C(0,6) ,then the area of the AABC will be :

(a) 30 sq. units (b) 15 sq units.
(c) 60sq. units (d) None of the above
20. AfS sinA = % 3l, dl tanA oI Tol Bl
4 5 3 4
()2 (b)7- ©7 @3
If sinAzz, then value of tanA will be :
4 5 3 4
O (b)7- ©7 @3
21. AfS 2sin’A=18l, Al LA I 3ol 819 :
(a)30° (b) 45° (c) 0° (d) 90°
If 2 sin’A=1, then the value of ZA will be :
(a)30° (b) 45° (c) 0° (d) 90°
22. cos 48° - sin 42° I HATIG BIoM:
(a) cos6° ®)0 ()1 (d) sin6°
Value of cos 48°- sin 42° will be :
(a) cos6° )0 (©1 (d) sin6°

23. 91fé1 O uep foig A, St Aol & urs- fdig 2 30 m I gt uz 8, stor &b forzaz o1
3oolIol DIUI 30° 3, dl ol i Sars 3:
(a) 30 m (b)153m  (c) 10¥3 m (d) 203 m
From a point on the ground, which is 30m away from the foot of a tower,the angle of

elevation of the top of the tower is 30° ,the height of the tower is :

(a) 30 m b)15V3m  (c) 10¥3 m (d) 203 m
24. uo qel Bl foerofl Tuel 3ars 8l At 8 2
(a)0D (b) Gl (c) 3loid (d) 3oTdi A DIS oIt
How many tangents can a circle have?
(a) One (b) Two
(c) Infinite (d) None of the above
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25. Al TP, TQ g O drcl fdp=il arT U= o1 U9l 318 33 UDPR 8 fdb £ POQ = 110°, Al
4L PTQ WIER3:
(2)60° (b) 70° (c) 80° (d) 90°

If TP, TQ are two tangents to a circle with centre O such that ZPOQ = 110°, then
ZPTQ is equal to:
(a)60° (b) 70° (c) 80° (d) 90°
26. Ale B gl I UReU 3112 SIWel IRFAMCHD FU A RIER 3, Al 3 gl bl Broa &:

(a) 2 ADBID (b) T AGID (c) 4 ABID (d)) 7 ABID
If the perimeter and area of a circle are numerically equal, then the radius of that

circle is:

(a) 2 units (b) T units (c) 4 units (d) ) 7 units

27. U AISI 7 e cid IRM A vb A1 B eIl 1 Fel1 3 | 3 1I6T DI SIIBel Tl BloT
TSR dIST IR O ADAI & ?

(a) 154 m? (b) 54 m? (c) 154/7 m? (d) 49 m?

A horse is tied to a grass field witha 7 m long rope. What will be the area of the

part in which the horse can graze grass?

(a) 154 m? (b) 54 m? (c) 154/7 m? (d) 49 m?2.
28. AGA S diA DI oIS TATS Sl UD 12 m o, 9 m AVS I 8 m 35l D 3 3xdt I
Al 8l
(a) 12 4. (b) 17 4. (c) 21 4. (d) 19 4.
What is the length of the largest bamboo that can be placed in a room 12 m long, 9 m
wide and 8 m high?
(a) 12 4. (b) 17 4. (c) 21 4. (d) 19 4.
29. Jcd-aet e vd et ararRar & dfa didsRIscra ... ... DB |
(a) 3 DH YD DI AU (b) A 3D UDIR' DI AR
(c) a e b Gloil (d) Soldi A DIs oIal
The graph drawn between upper-class limit and cumulative frequency is known as:
a) 'less than ' ogive (b) 'more than ' ogive
(c) aand b both (d) None of the above
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30 foraotfctRad 31 A dior 2t Je=n fopft acotr b urRrasdr o8l a1 Aol 2

2
(@2 (b) 1.5 (c) 15% (d) 0.72
Which of the following cannot be the probability of an event?
2
(@7 (b) 1.5 (c) 15% (d) 0.72
forao1 3i A fAbodl 6 Ul &b Iaz Sifstu : (6x2=12)
(Answer any 6 of these questions.) (6x2=12)
31. 3G 3JUIeRAS fAfer GIRT 96 3II? 404 BT HCF 3R LCM SiId HIfSIe |

Find the HCF and LCM of 96 and 404 by prime factorisation method.
32.  ag [GHIA a8uG Siid DHIfSIE fSRIh 9[6RIDI DI AT el JUIeIbel ThHII: -3 3122 & |
Find a quadratic polynomial, the sum and product of whose zeroes are -3 and 2,

respectively.

33. del ciifSTe A ABC ~ A DEF 8 3112 301 813TWhcT ShaA9l: 64 cm’ 312 121 ecm’ 3 | AfS
EF= 15.4cm 8, dl BC I B |
Let A ABC ~ A DEF and their areas be respectively, 64 cm” and 121 cm’. If
EF= 15.4cm, find BC.
34.  x-3181 U2 d8 fdog sirel Hifste il feigail (2, -5) 8li2 (-2, 9) A Az 3l
Find the point on the x- axis which is equidistant from the points (2,-5) and (-2,9).
35. o] folpIfcIe:  2tan’45° + sin’45° - cos’45°
Evaluate: 2tan’45° + sin°45° - cos45°
36, o Riog A 3, ger bt ek Yar &t e dem & 3l A B Bog A g s Wit S, A qa
&l Broen. st dIfoTe |
The length of tangent from a point A at distance 5 cm from the centre of the circle is 4
cm. Find the radius of the circle.
37. U Il D ATl DI 1wl Siid bIfSte, fSrrdbt uf3fer 22 cm 3l

Find the area of a quadrant of a circle whose circumference is 22 cm.

38. U® URI Pl U dIR bl SIIdl 3 | forsaifciRad ol urd @2ot bl urfrapdr sirda hifore
(1) O IS IR (ii) D fAuH =
A die is thrown once. Find the probability of getting:

(1) a prime number. (i1) an odd number.

SIRAIUS IISID 3[ofRieIol ud UfSIsur ufdvg, At [aiftfes w3iem) [31: 2023-2024]  Page 7 of 11



foraat 91 A fbodl 6 uesll &b a2 diforu :- (3x6=18)
(Answer any 6 of these questions.) (3x6=18)

39. Rig HIRIE b 3+4V5 0D USRI IR S |

Prove that 3+4\/5 is an irrational number.

40. AHIDIVIYSA x - y+1= 0 3R 3x+2y-12=0 DI MDY e A Bt BISIE |
Solve graphically: x - y+1= 0 and 3x+2y-12=0.

41. {3t A.P. DI 17di UG 3AD 10d UG A 7 3MfD & | DI Ad 3012 ST DIfSIT |
The 17th term of an A.P. exceeds its 10th term by 7. Find the common difference.

42 a8 3fofurd SiId bifte, 51w faigail A(1.-5) 3li2 B (-4,5) I f3icTIol arcir J¥RAs x-
3181 A fAenfora axar 3 |
Find the ratio in which line segment joining A(1,-5) and B (-4,5) is divided by x-axis.

43. feGa3l A (-5,-1) , B(3,-5) 312 C (5,2) 3 Solol dIc BI9[sT ®T &1 ST i
Find the area of the triangle formed by the points A (-5,-1), B(3,-5) and C (5,2).

44, RIgG DIoIN : /1_SinA =secA+tan A

1+sin A
1-sin

=secA+tan A

Prove that :

45, Scm Brsar oot v ga HIfIg | g 3 8em g2 ferd v feig A gea uz Fuel vaar goa
bl IdolI DIfoIu |
Draw a circle of radius Scm. From a point 8 cm away from its centre, construct a pair of

tangents to the circle.

46.  3IIDIe1 3, aerior OPBQ o 3icIsid b dsf OABC dloll 8311 8 | Al OA =20 cm 3, el

BRIIfBA 91191 BT SIThd SIIA DIfSIv] (1t = 3.14 DI URIISI hIfoIo)
In figure, a square OABC is inscribed in a quadrant OPBQ. If OA=20 cm, find the area

of the shaded region. (Use 7T = 3.14).
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(0 A P
foraot 31 A fAbodl 4 Uil & Iaz SifStu : (5%4=20)

(Answer any 4 of these questions.)

47.  fgara Jefiaur 2x°-7x +3=0 @I fdfdepd2 , Fcll Bl udpfer aen fardt 251 ot ueilst
B2 Il S IS |
Find out discriminant, nature of roots and roots using quadratic formula of the

quadratic equation 2x° -7x+ 3=0.

48. Rig difSte b afe {2t Brarst bt v 9sI1 b AR 362 1 s3I DI fHrool-3rcol
fdgai u2 ufercsdg a2l arclt 3xa1 308 Asirof 3iofurd 3 fasnfora wadi 8 |
Prove that, if a line drawn parallel to one side of a triangle and intersect other two

sides in distinct points, the other two sides are divided in the same ratio.

49.  dfolz O 3MrerR A 3 U AT I 3 4m 3112 9m bl g3 U2 Bera o) fdigail 2 fiome
& {92 & IooRrel BT YD DIUT 3 Rig BIfSTe a5 stiorrz b Sars 6m 8|
The angles of elevation of the top of a tower from two points at a distance of 4 m and 9
m from the base of the tower and in the same straight line with it are complementary.

Prove that the height of the tower is 6 m.

50. ©P BIA U 3AEIBlle] U2 XS UD P P DR P & 1ol Broars 1em & el 9ip bl Sars
3Dl BIsAI & SRISR 8l 33 SRR DI 3MRIcol T P Ul 3 SII Hifstel

A solid is in the shape of a cone standing on a hemisphere whose radii are lcm and the

height of the cone is equal to its radius. Find the volume of this solid in terms of Tt.

51. & &bl a6 A ol 3R HUR A LIl BD dciol 9P P B [Soold P MDR DI 3,
f311cbl S5ars 16 em 8 e foraret 3l Sl BRI &bl Broard wagr: 8 cm 312 20 cm &} 2 20
ufer cfic &1 62 31 331 Iclol DI YT 912 Aol Icl G&I PI A SiId HifSel

A container, opened from the top and made up of a metal sheet, is in the form of a

frustum of a cone of height 16 cm with radii of its lower and upper ends as 8 cm and 20
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cm, respectively. Find the cost of the milk which can completely fill the container, at the

rate of Rs 20 per litre.
52. forFol 3ifdsi A dgerd SiId HifSTe :

doI 3loaRIAA | 10-20 20-30 30-40 40-50 50-60

TAR—ARAL 6 8 15 9 8

Find the Mode of following data:

Class Interval | 10-20 20-30 30-40 40-50 50-60

Frequency 6 8 15 9 8

SIRAIUS IISID 3[ofRieIol ud UfSIsur ufdvg, At [arftfes u3ie) [331: 2023-2024]  Page 10 of
11



SIRAAUS IIf&IPD 3lofzielol Ud Ufdrgiur ufsee, il
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(2023- 2024)
3R DiSIDT

ufercol uest Ul (aedforss)

Answer Key of Model Question Paper (Objective)

F&TT-10 f¥I- MATHEMATICS
U261 IR IR U9%T AR £ B3
1 16. d
2. 17. c
3. 18. b
4. 19. c
5. 20. b
6. 21. b
7. 22. c
8. 23. ¢
9. 24. b
10. 25. a
11. 26. a
12. 27. b
13. 28. a
14. 29. b
15. 30. b
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SIRAAUS AfSID 3lofierrol ud Ufdrsivr ufdng, icit
2023-24

AlsScI U%1 U1
oel- 10 | [du=r- fdsirer AIRI- 3 quIicp- 80
2ATHT0=T folG9r:-
o Ulerreff remisia 3ruol 9rect 3 32 S

Q.1

Candidates should answer in their own words as much as possible.

318t usat siforari 3

All questions are compulsory.

el Uil Dl 31 52 3

Total number of questions is 52.

U2l 1 A 30 D IBADICTI U961 8 | U U%1 b AR [dwey fGu sie 8 A8t fdaey o1
TRIo! DIfSERI| Ui Ussl O fe1u 01 3icp forerifye 3

Question No. 01 to 30 are multiple choice questions, each question has four options. Select the

correct option. Each question carries 01 mark.

US6T 0T 31 3 38 A 3ifel o1 Iilr sl 31 fS1191 3 fobodt 6 Uil ol 3112 ol Siforart
31 UIb Ul I Hlol 2 3icb forertfya 2

Question numbers 31 to 38 are very short answer questions. Out of which it is mandatory to
answer any 6 questions. Each question carries 02 marks.

U961 ARRIT 39 A 46 AP o1 IR U1 3l F3R131 3 fdbos! 6 Usell ol 3t1R ol Mforar] 3
URID U1 DI Aol 3 3D forerifad 3

Question numbers 39 to 46 are short answer questions. Out of which it is mandatory to answer
any 6 questions. Each question carries 03 marks.

U%6T JRAT 47 A 52 SIEl IR Ut 31 febodl 4 UGl DI TR Soll fOIAR] 3] Ui U9sT DI
TGl 5 3icp forerifya 3l

Question numbers 47 to 52 are long answer questions. It is mandatory to answer any 4 questions.

Each question carries 05marks.

el GUUT bl Bl Gt e Bledl 82

a)0

b) 3lolcl

c)25cm

d) -25 cm

What is the focal length of a plane mirror?
a)0
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b) infinite
c) 25 cm
d) -25 cm

Q2 [t aq @I 31adel ouvl gRI AR, 3cicl IR Aol PR DI UfIFd soldl & Al

a=q ol Rerfer qe 8?
a) FUR b)3Iold U2
b) CIR d)C A 31161

A concave mirror gives real, inverted and same size image if the object is placed at-

a) AtF
b) At infinity
c) AtC

d) Beyond C

Q.3 foratfcif3aa 9 21 fop3I6T UabIol A (ISt SIfet 3 TACIAL 82

N

a) dcl

b) Ulofl
c) arg

d) Dol

In which of the following, does light travel the fastest?

a) Oil
b) Water
c) Air
d) Paper

Q4  Um I &l $FHAI -4 &, 3AD! BIDA G31 aar Blofi?

a) 4m

b) -40m
C) -0.25m
d) -25m

Power of the lens is -4,what will be its focal length?

a) 4m

b) -40m
c) -0.25m
d) -25m

SRS 1D 3lofRitllol ud UfdIsiur uidus, At

[sifSc U%6I U] [2023-2024]
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Q.5 #loId ol>1 &bl Bl 3t 3 uf¥drciol ol arar BIu1 82

a) ifolRIr

b) AIS3A

c) 31113131 ARMUTSRIT
d) Uil

D

What is the cause of the change in focal length of the human eye?

a) Cornea
b) Iris
c) Ciliary muscles
d) Pupil
Q.6 geftegiu dl —— off paI S 8

a) BISUHCIIUT
b) AR

c) Alfcrifdg

d) UdRIfURI

Far-sightedness is also known as ——.

a) Hypermetropia
b) Myopia
c) Cataract

d) Presbyopia
Q.7  UfeRIel &I S ABID =T 3?

a) dlcc

b) BAS
c) vFdiRR
d) 31

The SI unit of resistance is

a) Volt
b) Faraday
c) Ampere
d) Ohm

NN

Q.8 ool dI 3usllel forFolfciRaa 4t A fdprei fdbe Sirar 32
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Q.9

d) a1 foratior
Tungsten is used in which of the following?

a) Metal extraction

b) Electric bulb

c) Insulators

d) Textile manufacturing
qeabRI 811 31U forapetddl 8
a) ofdmofl gra

b) IRl ga
c)  TuD DIdDG
d)  Sold A DIS ofdl

Magnetic field lines emerge from

a) South pole
b) North Pole
c) Center of magnet

d) None of these option

Q.10 forgaifciR¥ac 31 3 Dlol AT BHIL fTU 3561t DI U Hld &2

a) NG RV RS
b) U] ol
c) AI2 oIl

d) 21 vot st
Which of the following is the ultimate source of energy for us?
a) LPG
b) Nuclear
¢) Solar
d) CNG
11. IRARIfOID HHIDUID] 8 {5 foRI D DRUI AdeTd D 8?

SRS 1D 3lofRitllol ud UfdIsiur uidus, At [sifse Ut usl) [2023-2024]
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a) godIol AIGIVI DI oI
b) ez srofurd oI forra
c) Slccol & wRd] Brgia
d) regfora smrad formr

Due to which law do we balance the chemical equation?
a) Law of conservation of mass

b) Law of constant proportion

c¢) Dalton's atomic theory

d) Modern periodic law

12.Fe+CuSO,—> Cu+ FeSO, fdp31 UbIR oI 3ifdifepen 37
a) J=IITol

b) f[A=IISIo

¢) f[azenuer

d) g fazemuar

What type of reaction is

Fe+CuSO4 —> Cu+ FeSO4

a) Combination

b) Decomposition

¢) Displacement

d) Double Displacement

13.H" 31RIol bl Aigdr faba ucrel 3 Ad 31t aleil?

a) SIo2 3A

b) oflq @1 2A

¢) 9IG Siel

d) f3rc 3w FAoohiforRm

SRS 1D 3lofRitllol ud UfdIsiur uidus, At [3ifSeT U%el W)
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Which substance will have the highest concentration of H+

a) Gastric juice

b) Lemon juice

c¢) Pure water

d) Milk of magnesia

14.Uctel A, B, C 71 D I PH #IIol HaA9L: 5,8 ,10 ,13 & SURKD 3 Dlol UcIef 3ol 8?
a)A

b) B

c)C

d)D

The pH value of substancesA, B, Cand D is5,8,10 ,13 respectively which of the following substance is an

acid?

a) A

b) B

c)C

d)D

15. forFotferRa 3t 21 {3531 cTauT T IURIIeT ATST 31F¢T TSI 3 f3pel SITdT 32
a) NaCl

b) NaHCO,

¢) Na2CoO,

d) CaSO,

Which of the following salts is used in soda acid fire extinguishers?

a) NaCl

b) NaHCO,

SRS IISID 3olielol ud UfSIsor uldug, el [dfseT ussl U] [2023-2024] Page 6 of 17



¢) Na2CO,

d) CasSoO*

16. forgotfcrf3aa 3t 31 dlot Ierrer sifass 32
a) CO,

b) ALO,

¢) Na,O,

d) Fe,0,

Which of the following is amphoteric oxide?

a) CO,

b) ALO,

¢) Na,O,

d) Fe,O,

17. 1&u 31e dArdi P sciaciiord [do-IRT 4 Dlol 3eate S1 DI SeIdgiiold [AoRIRT 8?2
a)2,8,1

b) 2,8,7

c)2,8

d)2,8,5

Which is the noble gas electronic configuration in the electronic configuration of the given elements?
a)2,8,1

b) 2,8,7

c)2,8

d)2,8,5

18. forgaferRaa 3 plol RIAH 53PN 3?
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a) CH,

b) C,H;

c) C,H,

d) C,H,,

Which of the following is an unsaturated hydrocarbon?
a) CH,

b) C,H,

c) CH,

d) C4H10

19. HCHO # ®lol UDRIIcHD S 8?
a) BeDIacT

b) iclol

c) BicsaIss

d) oraiadifcTe s

What is the functional group in HCHO?
A) Alcohol

b) ketone

c¢) Aldehyde

d) Carboxylic acid

20. f&w a1 aeal 3 fopa1 aca 3 AFREns sciadioll &bl e ferfére & gRraz gsfl?
a) ATSGIORIHA

b) DCIIRIA

c) UICIORIA
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d) gcgfdforeret

Which of the following elements will have the same number of valence electrons as lithium?

a) Magnesium

b) Calcium

c¢) Potassium

d) Aluminum

21. 3eftan 9 531 U2 T Wit BIA1 3 2
a) Uolidl JIyur

b) Zadidi gigor

c) Hiﬂﬁﬁfﬁ UIqur

d) urofl Je1siiahl ot

What type of nutrition is there in amoeba?
a) parasitic nutrition

b) Autotrophic nutrition

¢) Saprophyte nutrition

d) Holozoic nutrition

22. %G1l Uchd 31 oISl A URRAC Pl [AxdS6l Dal Blell 87
a) DISIDI Go=T

b) ASAIDIfZT 3

¢) BARI uofl &

d) AMre

Where does pyruvate breaks down from glucose in the respiratory process?

a) In the cytoplasm

SRS 1D 3lofRitllol ud UfdIsiur uidus, At [sifse Ut usl) [2023-2024]
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b) In mitochondria
¢) In our muscles

d) In yeast

23. foreotfciiRac 3t A dlol 1 awilol 9R12 Bl alig & fere urucr o forIeet Br 8?

a) af.g grdilol
b) sfctel
C) AN N AY]

d) erRRIfdRIer

Which of the following hormones regulates metabolism for body growth?

a) Growth hormone
b) Insulin
c¢) Testosterone

d) Thyroxine

24 101 31 218l 3ol fopeI3i) oI forRBIvI Dal A Bldl &7

a) YA AcD
b) ALAARASD
C) NN\

d) el

Where is the control of all involuntary actions in humans?

a) cerebrum
b) midbrain
¢) hypothalamus

d) medulla

SRS 1D 3lofRitllol ud UfdIsiur uidus, At
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25. 1&u & s1e T 531 UPIR O STotol dI UGOId BT 32
a) [dasar

b) AdSal

¢) Uolm&91do]

d) Icbetol

oY
3-4-5- 0
A v R _EA <
What type of reproduction does the given figure represent?
a) Fragmentation
b) Regeneration
c) Vegetative propagation
d) budding
26,3101t 31 foIcIol sl Il 8?
a) 3ISAIBDI
b) QIcbdIfBdT
c) STHTORT
d) 2Aifot
Where does fertilization take place in humans?
a) Fallopian tube
b) vas deferens

c¢) Uterus

d) Vagina

SIRAIS ISP 3roliellol Bd UfdIsIur uldyg, ekt [sifse Ut usl) [2023-2024]
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27. fop2it Sfta 3 o1s spur usnifda siar 8-

a) dbdc [UAr  DNA A

b) Sl AL P Slvolu A

¢)fUd 3ii2 ATl Gloli b DNA A

d)ol fUdr & DNA 3iI3 of ATl  DNA A
A trait in an organism is influenced by

a) Parental DNA only

b) Maternal DNA only

c¢) Both paternal and maternal

d) neither paternal nor maternal

28 oMb [ 2RI 9Ifep ARIA I fopA ufehan A 3ol b aledl 8?2
A) olIfIrcbIRI IcTRIol
b) olIfdrcbRI fdasar

¢) SIcT oI fAE 31uercol

d) dgell O 3>cdi Raara

By which process is energy released in a nuclear power plant?
a) Nuclear fusion

b) Nuclear fission

c) Electrolysis of water

d)Moon’s gravitational pull

29.83 G &I uftRIl Urd alol dicl 12 Holl I fobdoll UfcIord 1T ATel 3ol 9 ufdfcid dol i

a) 1%

SRS IISID 3olielol ud UfSIsor uldug, el [HIScT U%sl U3l [2023-2024] Page 12 of 17



b) 10 %
¢) 100%
d)0.1%

What percentage of the solar energy received by the leaves of green plants is spent in converting it into

food energy? .

a) 1%

b) 10%

c) 100%

d) 0.1%

30. fowotfc1Rad 3 fdb1 UcTel I URIIST Dol URITARUI &b [e18 AT 3D AGRID BI91?
a) S[AIDIcI b [SIUISIcT DU DI

b) telIf¥cd & fS3UlsIcl DU DI

c) 31l &b 1S3UlSIcT U @1

d) IeIaI b fSIUIGICT U Bl

Using which of the following substances would be most beneficial for the environment?
a) thermocol disposable cup

b) plastic disposable cups

¢) clay disposable cup

d) paper disposable cups

(330 XS 3 DBl 8 U1 3 ISTo1d 3 6 U%6T I IR Goll 8 UID U b Gl 3icb forerifyd 8)

Q.31 B dIBail 4l 3IcT GUUI bl SURIIST -9 GUUI b U 3 a=ll DIl 37
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Why do we prefer a convex mirror as a rear-view mirror in vehicles?
Q.32 i1 bl g1eIcI oI ufsId b3 312 33l S.1 ABID o1l
Define power of a lens and write its S.I unit.

Q.33 ©U®d B Dl 3ifce Ufth 9 Jod2 sciddls UGl 3 diceIs aldl 3l acal fod oy A tifsa

S\ ..

Bl ADI 37 3A DA SIb fAb=IT ST ADT 32

A student has difficulty reading the blackboard while sitting in the last row. What could be

the defect the child is suffering from? How can it be corrected?

Q.34 fSu a1 Rt 3 Dl sifdifcpen 21 3281 8 2 sifdifcpeIr o1 sfiasur ferd |

2 Agcl = 2Ag +Cl,

Which reaction is taking place in the given picture? Write the equation of that reaction.

2 Agcl = 2Ag +Cl,

Q.35 Gldcdl oI ol fe1lRaw St aredt oIy gui &l 2

Write the names of two elements whose outer shell is complete?

Q. 36. JAASIIATRT 2uft a=m 32

What is Homologous Series?
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Q.37

fAdsel a8 Xisol A fbd UDR fdieot 8 2

How is fragmentation different from multiple fragmentation?

Q.38

URITAU] bl &<dlol &b {18 Uil YR &b R TRIT 37

What are the five types of R's to save the environment?

(331 A0S 31 DBl 8 U1 & FSToTdl 3 6 W61 I IR Goll 8 URID U b 3 3idb forelif¥a 3)

Q.39 5 el cies bl vp ¥ 10 Al WiwA g3 D v 3radet oA A 25 Aol g2 It 315 B

Q.40

uferfaea bl ferfey, SR 3l Ul sird Hifsiel

An object 5 cm in length is held 25 cm away from a converging lens of focal length 10 cm. Find

the position, size and nature of the image formed.

o fdgld Afcbe oI v 33 Jolle [SRIA YD 2 dice & dlot et Dl dell, v 5 Q
ufeRlel, B 8 Q ufeRer, 3R v 12 Q UfeRIel, 3i2 U tetol Poil, Asht Avficna 3 SIS gu

2

ol

Draw a schematic diagram of a circuit consisting of a battery of three cells of 2 V each, a 5 {2

resistor, an 8 €2 resistor, and a 12 £ resistor, and a plug key, all connected in series.

Q.41 GEIDRRI 81T AV =T 8? JehI S1>1 3231 & UMl I ferdl

What are magnetic field lines? Write the properties of magnetic field lines.

Q.42. ¥3ia 3ifdfcp=II Rl 32 IGIEIVI b GRI AHST |

Q.43.

Q.44.

Q.45.

What is redox reaction? Explain by example.

DIEIoID ASID] b AUVRET el Aol ferdl

a. ®ICollol b.acilRIUcol c. dYoifct

Write the formulas and structures of organic compounds.

a. butanone  b.chloropentane c. methanol

o[t O ol B19ilol DI olre el PRI ferd |

Write the name and function of three hormones of human beings.

& 301l D dbicud Hldl D 32 aRIl €210l & 38 &7

Why are we looking towards alternative sources of energy?

SRS 1D 3lofRitllol ud UfdIsiur uidus, At [sifse Ut usl) [2023-2024]
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Q. 46. 31Silol ud bl sifel seI12 fo1e fRidr oot fawrer o=l 32 3371 sifer ol Hifdrd w2ol b fore ol o=

@RIl DGl IoToll ALBR?

Why is ozone layer depletion a matter of concern for us? What steps should we take to limit this damage?

(3 TS A BT 6 U%T 8 fSro1dl A TR U251l B IR Soll 8 IURID U b 5 i forerifya 3)

Q.47. Azl #lle I oltifcpd fpT TolrsRll 33D Rigid vd orifdfd ol Juse HifsE faea
Hlc3 3 Reie f3a1 DI Rl PRI 37

Draw a labelled diagram of an electric motor. Explain its principle and working. What is the
function of a split ring in an electric motor?

Q.48 UfeR1eIl oI AIolicR AANSTol Tl 82 AATGIR i SIS dlol UfeRIE®I R, R, 3R R, b A
UfeR1el SIIA B0l &b fo18 T RISIPD YrUool P2

What is parallel combination of resistors? Derive an expression to find the equivalent resistance

of three resistor R, R, and R, connected in parallel.

Q.49 SIRIfSID 3Mdel TR 3? IARIfOID AMSIDI &b JUiEE! foRdl sciagiol i FeGAVI B GRI
Na,0 & foretor ol fezars]
What is an ionic bond? Write the properties of ionic compounds. Show the formation of Na,O by
transfer of electrons.
Q. 50 fr¥ct arr 8 23rgol bt AWIS ufchen bl fopanfafer Jersiuse |
What is a micelle? Explain the mechanism of soap cleaning process.

Q.51 HIoId &G DI olAIfhd 5T Jol1v | ATold &G 3 GIa2 Uf3AAVI bl AHSIIT]

Draw a labeled diagram of human heart.
Explain the double circulation in human heart.

Q.52 JiScl d U=IIeI A DA Udl dell fob -
a. CIgI0T UaTrd srerar  srueirddt BX 3|
b. fAfdroot c181uT Fqei>T U A GIG[OIA Bl 3
How did we find out from Mendal's experiment that -
Symptoms are effective or ineffective.

Different traits are independently hereditary.
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Answer Key

l.a 6.a 11.a 16.b 21.d |26.a
2.c 7.d 12.c 17.c 22.b |27.c
3.¢ 8.b 13.a 18.c 23.d |28.b
4.c 9.b 14.a 19.c 24.d |[29.a
5.c 10.c |15.b 20.c 25.c |30.d
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SIRAUS IlISID 3loRitIlol Bd UfSIsiul ufdug, At

aiftfd u3letn
2023-24
HISTI U1 I
oel: 10 | faor - S fastel AII- 3 1S quiicp: 80

2ATdT0=T folGor:-

u3ietell Aeriera ruel oG I IR S

Candidates should answer in their own words as much as possible.
318t usat siforari 3

All questions are compulsory.

el Uil Dl 31 52 3

Total number of questions is 52.

U2l 1 A 30 (D JBfdDicu=1 U%1 8 | U U6l & dR fddey fGu 1w 31 A&t fdmcy
I aRIGl DISERI TN Ul &b fe1e 01 3icb forerifya 3l
Question No. 01 to 30 are multiple choice questions, each question has four options. Select the

correct option. Each question carries 01 mark.

U261 30T 31 3 38 1D 3ifeT off ST Ul 31 fS1=11 A fbodl 6 Uil I 3tIR Soll
3iforart 81 U Ussl I Hlol 2 3idb forerifda 2
Question numbers 31 to 38 are very short answer questions. Out of which it is mandatory to

answer any 6 questions. Each question carries 02 marks.

[y N D

961 JART 39 A 46 I oI ITRIRI U1 3 312191 3 fcbodl 6 Uil ol 3t1R ol Siforari 3
URID U1 DI Aol 3 3D forerifad 3

Question numbers 39 to 46 are short answer questions. Out of which it is mandatory to answer
any 6 questions. Each question carries 03 marks.

U1 JRCRT 47 A 52 Slel IR U6l 81 febodl 4 Uil Pl 311 ol SMfoldrR] 81 Urdd Usst
I Hlol 5 3icp forerifaa 3

Question numbers 47 to 52 are long answer questions. It is mandatory to answer any 4

questions. Each question carries 05marks.

AT @a & @ ia 98T« &1 36180 &2

a. Hol™g
9

b. STel
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c. gIam™
d. eg3raEs
Which of the following is an example of biological resource?
a. man
b. Water

c. insolation

d. Iron ore

2. HIeTd SiideT & JoTaT 3R faa e o) Tiet o ToIT HHATEIAT T HATST F HaT ScanT
gleTr Tnfge?
a. IARFRIATH
b. e F A= &
c. WHR & gaea

d. <IIHITd

How should resources be distributed in society to maintain the quality of human life and
world peace?

a. according to the rich
b. according to the poor
c. according to the government
d. justified
3. fARIRY R fonar SiTfat & Aol 7 3mar g2
a. TTAY Shiaar
. goleT SfTfera
c. TuTfae Sfaar
d. e sfaar

Nicobarese pigeon comes under which category of species?

O

a. general castes
b. rare species

c. endemic species
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d. extinct species

4., TAFATARET & A et GATAT e 87
a. HGIAC - eR1hs IRATSTAT
b. ETehT — fAIT ST S
C. FoddiAY - glsr@md
d. 979 — HTGST ATel TRASTAT

Which of the following is not matched?
a. Mahanadi — Hirakud Project
b. Tanka — underground water tank
c. lltutmish — HauzKhas
d. Ganga — BhakraNangal Project
5. e ot P R ey 3F v ST
a. IdsH
b. efd

c. auT
d. IWrFaasir

In which season are Rabi crops sown?
a. summer

b. cold

c. Rain

d. All of the above

6. T fohd FehI T i T 3EERIT &2
a. Sitae foralg i
b. wIfFsTeh HY
c. UOTHY
. g
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Tea is an example of which type of agriculture?
a. subsistence agriculture

b. early agriculture

c. plantation agriculture

d. shifting cultivation

7. SIRWUS o I[3T 3N AT & ol AT GiclsT IIAT ST 52
a. olig 3 T&h
b. e
c. diar

d. 31Tk
Which mineral is found in Gua and Noamundi of Jharkhand?

a. lron ore
b. Coal
c. Copper
d. mica
8. TAFIfaT@d # @ forgent URage UTSUcS GaRT &1dT 872
a. 9rer
b. Fardd
B FoA [ B Yo 1 Y

d. 39ed G
Which of the following is transported by pipeline?

o

a. Water

b. crude oil

c. petrol products
d. All of the above

9. BHW SR I 22 JHE ATV bl FfAeTeT Y fohay 1 & Ta@r a1 m &2
a. &dar
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b. odr
c. 7dr
d. 687

In which schedule of the Constitution have the 22 major languages of our country been
kept?
a. 8th
b. 9th
c. 7th

d. 6"

10. TATA 2AMHT IIEUT H TohcdalT Ig Afgemt & o IRfaa &2
a. T -fags
b. TH-TiUS
c. ar-fags
d. cieT-=iers

How many seatsin the local governance system are reserved for women?
a. One -third
b. one -fourth
c. two- third
d. three- fourth
11. AR H AR AR 3MegleleT el §31T?
a. 1968 ¥ 1974
b. 1954 & 1968

c. 1974311980

d. 1980 & 1988
When did the Civil Rights Movement take place in America?

a. 1968 to 1974
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b. 1954 to 1968
c. 1974 to0 1980

d. 1980 to 1988

12. R & =1 F fenargemsit 7 afgensit r ufafafcg fraar fradr &2
a. 5®Hraar
b. 4 g
c. 14 HrESY
d. 5HrEEASH

What is the percentage of representation of women in the legislative assemblies of the
states of India?

a. 5 percent
b. 4 percent
c. 14 percent
d. less than 5 percent
13. 3T | FleT W S H GfagellT STaTAT §?
a. AR
b. AR

c. BiE
d. JTHAT

Which of these countries has a two-party system?
a. India

b. America

c. France

d. Germany

14. 9Tl H Tolded o forg a¥ gaATCT TR I1am?

a. 2006
b. 2008
c. 2004
d. 2005
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In which year the monarchy was abolished in Nepal?
a. 2006
b. 2008
c. 2004
d. 2005

15. ST 3 9Tet o foiehioT & T 3Tealelst i 3FIdTS Tohe HaTaet & fohar aT?

FEDECOR

NAPAM

BAMCEF

. CONGRESS

Which organization led the movement against water privatization in Bolivia?

oo oo

a. FEDECOR
b. NAPAM
c. BAMCEF

d. CONGRESS
16. 3ol T #Hcg & e §led T Teh RUT oAl H @ dhiT-aAT g ?

a. ldefieieh [AdUT YOI &l Hel fshaleadel

b. 3dH IRAg TaEYl

c. TRA&T va Tareed oI Hifores graunait &1 aied 3uerstrar
d. 3= ufdeafed 3ma

Which of the following is one of the reasons for low infant mortality rate in Kerala?
a. Proper implementation of public distribution system

b. good transportation system

c. Adequate availability of basic facilities like education and health

d. high per capita income

17. TATaT@d 7 9 f5a garfed &7 & Aafoa ser s aedrg ?

a. PN HI
b.  SEITSEI =i T TATHT FHHARY
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C. ofg 3T & A%

d. SheTSIdTer

Which of the following can be called employed in the organized sector?
a. farm worker

b. permanent employee of multinational company

c. small scale industry workers

d. Ragpickers

18. VTR & S TR 3cTeed Il & TV foleed H H i T 3UTT fhU ST § 2
(1) TS shr giaem & gefer (2) faeaTery Td 3ol Shi TATI=T (3) TWed THERIUT Fh1s
T TATIT

a. hadl 1
b. 1daT2
C. 2dur3
d 1,2dar3

Which of the following measures are taken to generate more employment opportunities?

(1) Increase in irrigation facilities (2) Establishment of schools and hospitals (3) Establishment
of food processing units

a.only 1
b.1land?2
c.2and 3

d.1,2and 3

19. FATIfR@T F @ i T T AT TR a7 31 T FHIAT Al TR AT § 2

India?

a. HRA & AT Sog ST Plde

b. SR Retddeh garT s @Y
C. 2 FHT dh AN Al IR X &
d. faeades A Al I Farg

Which of the following agencies issues currency notes on behalf of the Government of
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a. The Finance Minister of India issues these
b. Is issued by Reserve Bank of India
c. All banks of the country issue currency notes

d. World Bank issues currency notes

20. T 3R 2T1e &Y ©Ie g § fSegiat 37e19T-37619T Tl & 20,000 T9AT dhol forT &) TH
o1 1.5% sATST STAATE T G @ Ueh AT F ol TolAT § STafeh ATH o UG ol sieh F
gTAay 8% SATST X ToldT § | TR 3TUR W ol f@d 7 & Shled AT HYUT AT 872

a. THA T fordr &1 foh 38 fordl YR Al IRTSHT SRIAATET sTgl el us |
b. QITH FT gleld SATGT BRI g FAITh 38 SATGT SATST SoAT US (ET & |

c. A Y gTold SITeT TS § i af SATeT sAToT & TET & |
d. ISR ¢ FAT Toh 39 SITGT ST1ST el TET g

Ram and Shyam are two small farmers who have taken a loan of Rs 20,000 from
different sources. Ram has taken a loan from a businessman at the rate of 1.5% per annum
interest while Shyam has taken the loan from the bank at 8% per annum interest. On the above
basis which of the following statements is true?

a. Ram did it right because he didn't have to do any paperwork.
b. Shyam's condition is worse because he has to pay more interest.
c. Ram's condition is worse because he is paying more interest.

d. Shyam is better off because he is getting more interest.

21. IR TN o FAT T AN (RTI) ATHR hleleT shel T fehaT I1AT?
a. 3TFCER 2005
b. 3T9T&EA 2006
C. STeTadl 2005
d. oIdF«¥ 2007

When was a law called Right to Information (RTI) implemented by the Government of
India?

a. October 2005
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b. August 2006
c. January 2005

d. November 2007

22. TR GaRT AT 372aT ITAHT T §CTeT T TTohaT FIT FHgalldl &7

a. AR
b. fosieRor
C. 3RO
d. regare

What is the process of removing barriers or restrictions by the government called?

a. globalization
b. privatization
c. liberalization

d. nationalism

23.  37&C (Ernst Renan) YoTeT Toh& &2T & graifaies 272
a. STHaAT
b. SHIEET
c. 3TARHT
d. R

Ernst Renan was a philosopher from which country?
a. Germany
b. French language
c. American
d. Indian

24, m#raﬂﬁarq'gé ofr?

a.1789
b. 1857
c. 1757
d. 1947

When did the French Revolution take place?
a.1789
b. 1857

SIRAIUS IISID 3[ofRAeIol Bd UfdIsur ufdvg, At [aiftfe w3iem)
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25.

26.

27.

28

c. 1757
d. 1947

a. fgeex
b. AT

c.?{lﬁﬁ?ﬂ?&ﬁ
d. FTTHTFT

Who was the founder of "Young Italy" underground organization?
a. Hitler
b. Napoleon
c. Giuseppe Metsny
d. Karl Marx

HeTcHTITEY TaToT 3715hehT & HRd ohd llc?
a. SteTal 1915
b. 379TE 1921
c. AT 1930

d. STeTadr 1950

When did Mahatma Gandhi return to India from South Africa?
a. January 1915
b. August 1921
c. March 1930
d. January 1950

AT dere ST 81T 31eerehy T fehdieh HE g31 2m?
a. STATgY ool dAg®
b. TER g&eT
c. Ef Toleg 9IS

d. FGTcAT amed
The Poona Pact was signed between Dr. BhimraoAmbedkar and whom?
a. Jawaharlal Nehru
b. Sardar Patel
c. Dr.Rajendra Prasad
d. Mahatma Gandhi

18903?3%@:%%?@—?%@@%3%:&3@?3@@&@7
a. 3TAR&T
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b.37shTeRT
c.foeather
d. STaTeT

In which country did the disease called Rinderpest spread very fast in the 1890s?

a. America

b. Africa

c. Britain spread
d. Japan

29. fA=Tifoha & & SieT ¢or AaRTSE & qrer &7 A7
a. Jeht
b. 3Teear
c. fsieeT
d. STH=AT

Which of the following countries was in the hands of the Allies?
a. Turkey
b. Austria
c. Britain
d. Germany

30. Teufeer el #eher foraes gany 9=1g 915 A 2
a. 7ggsT
b. IR
c. SIFggRATsaT
d. et

Who created the Spinning Genie machine?
a. Newton
b. Kepler
c. James Hargrebbs
d. Raphael
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iy s weet - el 06 wett & Fww &
Very short answer questions: Answer any SIX questions

31. 3GRATG HIFATHAE ?
What is the meaning of liberalism?

32. FaRfAfear #Foigy i ¥ 2
Who were the Girmityalabour?

33. SE3eg N FEr RIS & gl S 2 i forg]
Write any two disadvantages of multipurpose river projects.

34. @it AT §?

What is a mineral?
35. HFIGTTAhdT T 872
What is communalism?
36. ARG 3TeqTelel & FIT HHSTT &7
What do you understand by feminist movement?
37. TATERAT &X Sl IIRATT HY]
Define literacy rate.
38. a2 SATIR TIS+T (WTO) & fohegr &l St ol ford|
Write any two functions of the World Trade Organization (WTO).

ETes : fhedl & weal & 36 AfAFaH 150 i A E |

Short answer questions: Answer any SIX questions in maximum 150 words.

39. SATIATATAT 19T §eAThIUS TR Higed Ale ford |
Write a brief note on Jallianwala Bagh massacre.
40. STAgSH FHSIT @1 &1 378 § ?What is the meaning of Bretton Woods Agreement?
41, {RT A dlig 313Ew o foahegl Aol [aaoT 819 & A1 ford.
Name any three distribution area of iron ore in India.
42. Y MR 3T 3R GiAST TR 3T H F47 3R 8, 3ceR0T Afge ford]

What is the difference between agriculture-based industry and mineral-based industry,
write with examples.

43, elterdieeh sgaeT T faregl o gatfarat ==t 1.
Discuss any two challenges of the democratic system.
44, ngo?lq SIATUT I T H Tord|
Write briefly on multi-party system.
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45, FoT I fohogr et AT FT 3ol HY|
Mention any three conditions of the loan.

46. STHTFAT TIETUT IR ITHIFATHT T TR ThR FAGE, T o2 foheal clel aXiehl T
ool |

How does Consumer Protection Council help consumers? Mention any three methods.

&rer 3T weeT: oY 04 WY & 3% HTOFaH 250 erea # &

Long Answer Questions: Answer any four questions in maximum 250 words.
A7. HEUT TEPIA o HIR & Tregale; o [denrd & 41 Hee 6 2

How did print culture help in the development of nationalism in India?
48. $EC ST el o HRCAT eTehsl & AT AR It hg iy g i smyfed glared
el o Tl Fm fopam 2

What did the East India Company do to ensure regular supply of cotton and silk cloth from Indian weavers?

49. ST gell & GUR & 3UTdT T T Y.
Discuss the reform measures of political parties.
37[dT (or)
T I ATSIERT & faffesT 9T &1 quT &y
Describe the different forms of power sharing.
50. HTdoTieTeh &7 fond T & 31T A & $8 g &a &7
How does the public sector contribute to the economic development of a state?
37dT (or)
HOT & 3TaTer Ta 3=aariRes Aldr & 37X & TS &< (Explain the difference
between formal and informal sources of credit.)
51. TR H TS STTeY dTell FaT & Jatferur &Y 3T 3eTehr autet .

Classify and describe the soils found in India.

52. AT # Y& R g & H1H= T 10 A1 ht 3R T ) ford- olgT &

IR FRACHIECIE G|

Write the name given in the appropriate place in front of the point shown in the map -
Iron Steel Industry Jamshedpur, Iron Ore Mine Bailadila, BhakraNangal Dam, Cotton
Textile Industry Surat, Port Visakhapatnam.
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qRGlere Ueell &1 JA, Uea A3 1 A 30

1 A 11 B 21 A
2 D 12 D 22 C
3 C 13 B 23 B
4 D 14 B 24 A
5 B 15 A 25 C
6 C 16 C 26 A
7 A 17 B 27 D
8 D 18 D 28 B
9 A 19 B 29 C
10 A 20 C 30 C
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SIRIAUS 3D 3lolielel Ud Ufdrgrur ufive, i<t
2023-24

TG OI-UGTUI(HTS T UeeT-usT )
fore=r - Arpa Time:-03:00 Hr

D8l - Gt FM-80

ATHToUIOICOT: -

o IRAfOor: JeMQIfTp Fq9lecy 3012 Gl

® PclUSolloll AT 52 313l
o U%I: | : 30 WRiod Iafddcuussr: Alodd, U Ul dcdlR: fddeur:
3fodl

O N NN

o ARIP f[ddcy Kol U U6l Dl B 3idb faforifstd srafel

* USGRISCAL 31 T: 38 URiod SIcild oTf STRUSGIL: Afodl AY b=l 6
U°GIR 3712 Sl ifolarie] 3l Ui U6l e 2 ISPy forerifyd
s1afet |

* UGRISAAL 39 I: 46 WRiod elISTRUSGIL: AforTl AY BIAMY 6 UG I
oI 3iforarier i3l Ul U6 3c 3 3rsdy foraifyd srafer |

o USRS 47 TI: 52 Wlod GlE STRUSI: Afodl DAY 4 UG- IR
oI Siforarie 13l UrIbIRI U1 e 5 3rsby forerifd arafet |

fader- reifaf@a-arRy WEifFauery aft-ue R=de-ve a1 Rea-
1T+ W o 3y |
() T (@) gurfr @) T (7) aafr

2. TAA+ATAAA FraraTTHhA |

(%) TeTefaIerH (@) TeraTeRr ()T, () Ferrtferas
3. Q+3eTH 319 Fgid|

() dleTA (@) T, (1) 3T (¥) a9t

4. 3T i 31REd |
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(o) aST+R: (@) a¥ +*d: (a1) asf+sRar (&) asf+ag:
fader:- Y@ifFauear gfa- verat wasy fsrsT a1 ReetsT: Rea-

5. (FddT:) 9d SAefed|

() STeT+3TT (@) e+ el (1) ST+ o (En)STeT+erq]

6. JoiO: (F+ AQGY) died FIHRY FdaT |

() SFeladr (@) Sefdad (31) SeTAT (%1) SeIATe]
7. (@a+3f@) s A
(F) el (@) sferar @) sfer=t (gr) sforer

e - Eifra-Ry/Tye-RY ¥aEd-9¢ RAaee a1 Feq -
9. EITE: HETeT HTHT AN, & HAATA|

() HETHTH, (T) HAEIcHT: (31) HQTeATe (&) HETcHT

10. I I[EH IWISIH 3|

() ITSATH, 3T (@) 9T §AG () T HA (&) ISIMT: qTH,
11, Hc: QRIS §Hel 31TE |
CARGRIEICE (@) Yleryaer: (31) T - ATTeTe] (&) 4T - AT

12. qH: T _AGHIT: T 3L - AT

() ITHAEHOT: (@) THAEHT @) JAAECHAUTFATH (F)  AHAGHUEY:

fader: - ag-aREdas 3R - v g3 -

13. T TG - - - - - - - |
(%) TRafd (@) TRId (NI () TRIS
VA | —— Tead|
(%) TeeThet (@) qEThA (M) gETHITeY (1) e
15. STeTeh: 3T immmmmmmmmm |
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() 3TgH (@) #A1F (@) HAT (1) 3TEAH:
17. AT HIATOT —-mmmmme |
(F) FATT @) fopaa @31) fohdea (7) FW

fréer: - Y@ifra-u¢ /eye ge e ARG ad 98 Y Foa-

18. 3¢ 3TH Wafd

(F) TIETH: (@) @rerfa (31) Wera: (a) @eed
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SIRIUS IIfSIPD 3lofielol Ud Ufdrgiur ufwe, il
arftio uRiei
(2023- 2024)
¥HI- 03:00 TeT
Model Question Paper

H8TT-10 farwr- a7g fameT (¥eenfeas ) / HOME SCIENCE quifeh-70

(Theory)

JATHTIoRI folG9r:-

u3tgireff rerisia 3ol greci 9 312 Sl

Candidates should answer in their own words as much as possible.

o sft Ut 3iforart 2
All questions are compulsory.
® Ol Uil bl 147 8l
Total number of questions is 47.
o U | 3 25 AD JBIADICWRI Ussl 3 | URID U6l O AR fddey f&u 1w 31 3l fadeu
I ARl DISERI TN Ul &b fo1e 01 3id forerifya 3l
Question No. 01 to 25 are multiple choice questions, each question has four options. Select the
correct option. Each question carries 01 mark.
o UGl I 26 A 33 AP 3fel oI IR Usel 31 BRI A fpodl 6 Uil ®I IR Soll
aiforart 31 Ui Ussl BT Alal 2 3idb forerifya 3l
o UGl AL 34 3 41 7D ol STRRI U6l 81 f31191 A fbodl 6 sl I 3t1R ol Siforart 3
URID U1 BT JATal 3 3icb forerifya 2
o U IR 42 A 47 S ITRT Ul 31 febodl 4 Uil DI IR ol Stfolart 81 Ucdd Ut
b1 ol 5 3icb forertfd 2
1.BRP1 =11 &2 B. 81113 uGrel
A 31Fcti=I uerel
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47.

47


C. firolrs fdeIRID
D.RIcelrs sraonudm
What is Vinegar?
A.Acidic substances

B. Alkaline substance
C.lubricating solvent
D.Lubrication Absorber

2. gl 3 3R 81 At 82
ASlod A ud

B. Slod D =T A

C. SlodA d T™AId A

D. Soldl A 19}

Can children have disabilities?
A.Before birth

B. From the time of birth

C. Since birth

D. All of these.

3. dp fdpdIol UDI2 BT BIdI 32
ABD

B.GlI

C. diot

D. dR|

What are the types of cheque?
A.One

B. Two

C.Three

D. Four.

4.2 q A 6 af AD DI AR DI Dael
37

A. Slordraxelr

B. dIcIdIe

C. foponRIazen

D. Ulgraze]

SIRIAUS AfSID Hoielol bd Uforgiur ufdug , ich

[sifset u%sI UAl | (2023-24)

What is the age from 2 years to 6 years
called?

A. Infancy

B. Childhood

C. Adolescence

D. Adulthood.

5. 81lslol b WlfSe e 3 afg Dol
bl fafer 32

A 3B 3ur

B. 3[@3la2ur

C. fdfdioot slis=1 ucrelt oI fdrgrur

D. Soldi A 19l|

The method of increasing the nutritive
value of food is

A.Fermentation

B. Germination

C. Mixture of different food items

D. All of these.

6. Well ud AfosrIl & udol i fepanr
@ o1 foteol 3 A Dlol SIFAAR &2
A

B. 4z

C. Sitarug

D. UaIIsH|

Which of the following is responsible for
the ripening process of fruits and
vegetables?

A.Mildew

B. Yeast

C. Bacteria

D. Enzymes.
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7. oIdGIId {193l I Icfolulol D A
Dol dIf3u ?

A.STod O fSol A

B. Slod &b U f&ol d16 A

C. Slodl P ! feol d1G A

D. Slod d dilol Sl a1

When should newborn babies be
breastfed?

A.From the day of birth

B. A day after birth

C. Two days after birth

D. From three days after birth.

8. gtorarazel fabeol auf b aldl 32
A.0 A v ad

B.03jJ2ay

C.0g3ay

D. 0314 ay]

How many years does infancy last?
A.0 to one year

B. 0 to 2 years

C. 0 to 3 years

D. 0 to 4 years.

9. 911, TPI¢l d WIIR dlcdl b cI8IuT 87

A fcparca®

B. SIlollcAD

C. aRI¥®d

D. JdoIcHD)

Are fear, anger and love characteristics of
children?

A.Functional

B. Cognitive

C. Physical

D. Emotional.
SIRIAUS AfSID Hoielol bd Uforgiur ufdug , ich

[sifset u%sI UAl | (2023-24)

10. 3T 3IRI dici RIftb dolc dolldd
AT 31feID RRI B3 3?

A 91ISTol U2

B. @212

C. SIRBPIGRI® a3l ©2

D. 3ARI U3

Do people with higher income spend
more while making budget?

A.On food

B. On clothes

C. On comfortable items

D. At residence.

11. onfadl RO &I Dt
IAQADAI Ao A fbeofl 3ifeld
Bl 82

A.300 Seil3t

B. 400 eti3t

C. 200 eil3t

D. 100 Se1l3l|

How much more than normal is the
calorie requirement of pregnant women?
A.300 calories

B.400 calories

C.200 calories

D. 100 calories.

12. afig A arfdurg 82

A 3[UIIcAD fdpTa

B. SIlellcAD fADRI

C. IRAAD fADRA

D. AMHISID ARy

What is meant by growth?

A.Qualitative development

B. Cognitive development

C. Numerical development
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D. Social development.

13. vers a8 A forg bl gga &t
¢rsol 1 fdroic 9 fdbdofl a2 aicti 32
A.50 A 60 A1

B. 80 3 100 412

C.120d1R 180 dI2

D. 120 A 140 A3

How many times does the baby's heart
beat in a minute in the first month?

A.50 to 60 times

B. 80 to 100 times

C. 120 to 180 times

D. 120 to 140 times.

14. Jiofte1 I feperoft erRIv 82

ABD

B.cl

C. diot

D. dR|

How many streams of music are there?
A.One

B. Two

C. Three

D. Four.

15. " Wel 'p AHdiksd 3R
AcADIGA fobemr & " W1 Hi AB
uf¥smm fop fagret ot 32

AT

B. dcicIsol

C. ATSITCT

D. Z¢ol|

“Sport is a voluntary and self-centered
activity” Which scholar has this

definition of sport?
SIRIAUS AfSID Hoielol bd Uforgiur ufdug , ich

[sifset u%sI UAl | (2023-24)

A.Gluck
B.Valentine
C. McDougall
D. Stern.

16. B oI1d gl A fdbdefl Heldt urg
aIdl 82

A4 DRt

B. 6 el

C. 8 bel3t

D. 9 il

How many calories are obtained from
one gram of fat?

A.4 calorie

B.6 calories

C.8 calories

D. 9 calories.

17. uforst Brdist $ofdt A fbA dad 82
ANcacet

B. Ufdreot

C. ocIIsdIsIof

D. Saifeol]

Which of the following is called primary
carbohydrate?

A.Cellulose

B. Pectin

C.Glycogen

D. Dextrin.
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18. fop1 et & BlAlocilfcel B ABI
D Bl Sl 37

A Fpdl

B. GotlférRm

C. dar

D. ciedl]

In which disease the amount of
hemoglobin decreases?

A.Scurvy

B.Anemia

C. Goiter

D. Night blindness.

19. G&I 31 uIe Silol drcl Uldiol @I of1s
&R &7

A.ucdfdiol

B. d2iol

C. c1rs3to1

D. Siio|

What is the name of the protein found in
milk?

A.Albumin

B. Casein

C. Lysine

D. Gene.

20. ufzar & J9ft JAc=N DI duDd

dcdi i Ma9ADAI Blcil 82
A.BD JAdAlel

B. RIER

C. fd1o01-1d1001

D. 3IcAfD|

What nutrients are required by all
members of the family?

A.Uniform
SIRIAUS AfSID Hoielol bd Uforgiur ufdug , ich

[sifset u%sI UAl | (2023-24)

B. Equal
C. Different

D. Excessive

21. MBI 3IRIISI6l dollol A Bl 37
A€ol b srad

B. A bl e

C. 91fcd &bl T

D. gof J1sit I gad]

What happens by planning a meal?
A.Saving money

B. Time saving

C. Power saving

D. Saving all of these

22. IfdDEL Ms=T ucrel 37
A.dIdel

B. IGDI

C. gIcx

D. A A8

Is it a non-perishable food item?
A.Rice

B.Corn

C. Pulses

D. All of these

23. HIoTdIRT JATeroT Bl 82
AcT

B. €0l A UTd Alo=T

C. 3111

D. €9

Human resources are?
A.Macro

B. Achievable by money

C. Abstract

D. View.
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24. gd2 A0 5T UDBIRE &I daIc

AR UCD BIel 8?
A HIC DI oI
B. Jddfe1d goic
C. I DI daIc
D. Soldi 21 18]

Which type of budget is most suitable for
us?

A.Deficit budget

B. Balanced budget

C. Budget of savings

D. All of these

25. gc] f&11a- fobrd feraot bl dlot
At 91 fafern 82

A.geo fafer

B. ferorwr fafer

C.ollcgd fafer

D. Soldi 2 JA9l|

What are the main methods of recording
household accounts?

A.page method

B. Envelope method

C. Notebook method

D. All of the above

arfer g JAIRT U%GI(Very Short Answer Type Questions) 7x1=7

N O

%61 26. Siifde 380t P fe1u fdpol-fdbet d2c ugrelf i 3ragradr sl 8?2

What are the main substances required for survival?

UGl 27. $lISTol b Tcd dDiol-dlol A 37
What are the components of food?

%61 28. PUINUL 3 31U TRII AHSI 8?
What do you understand by malnutrition?
Ul 29. Aielol [ Dad 32

What are resources?

U%I 30. 3¢ 312 DRI A ORI 312 87

What are the differences between play and work?

%61 31. R3¢ b1 DRI A Bl 8?
What causes Rickets?
%1 32. 3IRIGIol I Uf3ei e

Write the definition of organization

U%I 33. fecold O dd Dd cleldiol dIfau?

When should one get tetanus vaccine?
[sifset u%sI UAl | (2023-24)

SIRIAUS AfSID Hoielol bd Uforgiur ufdug , ich
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E[g—?»?lﬂ?l %I (Short Answer Type Questions) 6x3=18

U%T 34, AATSHDUT A 31U TRIT AHASI &7

What do you understand by socialization?

U9 35. 9liEID Ucrel fip3 s 87 JUte DIfSu|

What is a purifier? Explain.

%1 36. UIAI3c 3IRI ARl &7

What is the family income?

o6l 37. df el fdmrRt ol uf¥siitia o2

Define growth and development.

U%GT 38. STl A ORI oI &7 ferd

What is the benefit of saving? Write

%t 39. f3etrac i ufesm o= 8?

What is the definition of adulteration?

%1 40. fSeoioe ( SUHATSID ) b IU=DIel A alol dict clIs] oI ford.
Mention some benefits of using detergents?

U961 4 1.9 3Ie Tidcl 41 Dlol-Dlot A 3l forerif¥e fopw sre 82
What are the characteristics of a good label?

ST-3A3RI UGt (Long Answer Type Questions) 4x5=20

%l 42. UR¥AR & fe1u a1 231Gl AT [pol-fcbol didl U2 €116l Soll aIidu?
What things should be kept in mind while buying clothes for the family?

U1 43. AIBD AD 3R IHMMDA AD 3 TR 316012 82

What is the difference between a bearer cheque and a crossed cheque?

U951 44. UeAST 3IRI d 3IUAST 31T 3 3lociR fera.

Differentiate between direct income and indirect income.

U9 45. 9141t a1 DI AdRIol 311U {63 UDIZ DIit?

How will you store silk clothes?

O DN N Y O\

%61 46. B 3]f8ufl &b Sfoi it bl faddot B2

SIRIAUS AfSID Hoielol bd Uforgiur ufdug , ich [HISTT U%61 UAT | (2023-24) Page 7 of 9



Discuss the daily tasks of a housewife?

U1 47. HDIHAD A5 DI IIDI Blel Bl IRII IURI Dol AMBT?

What measures should be taken as soon as there is a suspicion of
infectious disease?

SIRIAUS AfSID Hoielol bd Uforgiur ufdug , ich [SifseT u%el Ul | (2023-24) Page 8 of 9



SIRIAUS ISP Molielrel ud ufdrgrur ufewg, i<
dIitis aAreAaidan adien
(2023- 2024)
3R DfSIDI
ufercol uest Ul (ardforso)
Answer Key of Model Question Paper (Objective)

FEIT-10 farwr- 18 femer @qenfeas ) /
HOME SCIENCE (Theory)

1.A
2.D
3.C
4.B
5.D
6.D
7.A
8.B
9.D
10.C
11.A
12.C
13.D
14.C
15.D
16.D
17.C
18.B
19.B
20.C
21.D

22.D
23.C
24.C
25.D

SIRIAUS AfSID Hoielol bd Uforgiur ufdug , ich [SifseT u%el Ul | (2023-24) Page 9 of 9




SIRIAUS IIf&IPD 3ofitlTol Ud Ufdrgiur ufewe, il
arffes aAre=Afdras udien
(2023- 2024)

ufcigol uvst ust
Model Question Paper
eaTl-10 fawa- ACT HHT-03:00 T qoIT-80

AL [01G9T:-

o U3tetreff reIisa 3ot 9rect 3 312 G|

Candidates should answer in their own words as much as possible.

o 218t ueat siforart 3

All questions are compulsory.

0 el Uil bl T 52 8

Total number of questions is 52.

0 U%1 1 3 30 (D IBIADICTRI Ul & | U Ul & dR [doey 8w o1u &

A8l faey I TrRIol BRI Ul Usst & fé1e 01 3idb forerifdd 3l

Question No. 01 to 30 are multiple choice questions, each question has four options. Select the correct option. Each
question carries 01 mark.

0 U1 01 31 3 38 AP 3Iiel o1 TIRI Uset 81 f3119T A fboadl 6 usall a1

3T1R Soll 3iforart 31 Ui UssT BT ol 2 3 forerifd 3|

Question numbers 31 to 38 are very short answer questions. Out of which it is mandatory to answer any 6
questions. Each question carries 02 marks.

0 U1 IR 39 A 46 AD ol IR Usel 3l SR A fbodl 6 ussil oI

3012 Soll SMfoldrRt 31 Ui Ussl Bl iol 3 3idb forerif¥e 3|

Question numbers 39 to 46 are short answer questions. Out of which it is mandatory to answer any 6 questions.
Each question carries 03 marks.

0 U%1 AR 47 A 52 Slel I3 U1 31 fbodl 4 uesll @I 3R Sl Siforared

3 U U1 I Hlol 5 3icp forertfea 3

Question numbers 47 to 52 are long answer questions. It is mandatory to answer any 4 questions. Each question

carries 05marks.

1. WW%‘TW% — (Examples of current liabilities is/are:)
(a) Q\Gﬂ (Capital)
(b) 2BUT (Loans)
(c) < faU= (Bills Payable)
(d) 378 T (Al of these)

2. mueﬁmﬁmmmm%? (Which type of Account is Profit and Loss Account?)
(a) Hfgaid Jrdl (Personal Account) (b) IRdfde @Il (Real Account)
(c) ATHHTA hTWIdTl (Nominal Account) (d) Sd QT (Suspense Account)

SIRAUS IIISID 3rolielol ud UfsIsiur ufdvg, JAclt (it udtei) [301 : 2023- 2024] Page 1 of 8



3. gfe fashg 1550 o TUTHHA ATH 250 Fo I Al 9 T HIA BT ARTA TR ? (If sales is Rs
1500 and Gross Profit is Rs 200 what is the cost of goods sold ? )

(a) 1700 0 (b) 1300 &0 (c) 1750 &0 (d) 1350 =0
4. ﬁuﬂaﬁq ot \’rl'ﬂ?fm % ? (Which of the following is Intangible Asset ?)

(a) PIURTIC (Copyright) (b) BT (Goodwill)

(c) a@‘lzﬂé? (Trademark) (d) E:Iﬁﬂ‘l-ﬁ (All of these)

5. ﬁ?ﬁﬁﬂ'ﬁ’lﬁﬁ?ﬂﬂmﬁ% ? (Which one is not a Financial Expense?)
(a) BUTUR I (Interest on Loan)
(b) t\l;Trﬂtle'l\_rf (Interest on capital)

(c) I (Charity)
(d) HHIRH (Commission)

6. T HTURT 7 3T TF D1 X 2,000 B B ATIR & Ihs A JH1S | 56 Sfac H3 (A

businessman pays X 2,000 as college fees of his son from business. This will be debited to)-

(a) W@Tﬁﬁ(mawing A/c) (b)W‘@Tﬁﬁ(Expenses A/c)
(c) @Eb_s"@ﬁff (Cash A/c) (d) sﬂﬁ@rﬁé%‘} (None of these)
7. A=A &1 3T & 2 500 éﬁz%&aﬁﬁ (Repairs of Machinery X 500 will be debited to) —
(a) AR @rd A (Machinery A/c) (b)m@'@ﬁﬁ (Wages A/c)
(c)W’@ﬁﬁ(Repairs A/c) (d)ﬁﬁ@aﬂéqﬁmone of these)

8. W] T Y ARTd UeTd (A% e / rfxi &7 a1 d Ut ofta- = (Original cost

of Assets less scrap value / Estimated working life of Assets =
(a) @Y (Depreciation)
(b) BT (Loss)
(c) ﬂmﬁ@q\wﬁmﬁ (Decrease in the value of Asset)
(d) Wﬁf%&?ﬂﬁg@ (Increase in the value of Asset)

9. mmﬁwu&ﬁrﬁmaﬂw@r (Under Diminishing Balance Method amount of
depreciation goes on )

(a) EI?T‘F[% (Decreasing) (b) El@?ﬂ% (Increasing)
(c)f@-l???ﬁbf%(Constant) (d)s:lﬁﬁaﬁ_scﬁ(None of these)

10. TYTHY u‘umﬁﬁrﬁgm CARYIE] (Under Fixed Instalment Method amount of depreciation goes

on/remains)-

(a) H??ﬁ% (Decreasing) (b) aa‘cﬁ% (Increasing)
(c)@RRFﬁ%(Constant) (d)ﬂqﬁﬁﬁéﬁmone of these)

11. Wﬁo—ﬁﬁfﬁﬁmﬁmmm% (In Fixed Instalment Method, depreciation is calculated on)-
(a) IR YT WR (Opening Balance) (b) A IT R (Closing Balance)
(c) Hel T U (Original Cost) (d) ﬂqﬁﬁ?ﬁéﬁmone of these)
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12. % 500 P 3T TOIg 8 | SHPT AW HEI-BEI 81T ? (There is an outstanding wages of X 500. How

it would be dealt ?)
(a) YR WTd & A9 Uef H (In the debit side of Trading A/c)
(b) ﬁ@%zﬂﬁaq&‘fﬁ (In the liabilities side of B/S)
(c) ﬁ@%wﬁm&rﬁ (In the assets side of B/S)
(d) aTUTb G H ( Both a & b)

13.X 1,000 aaq a7'|T GIGA %, Eﬂ?ﬁﬁﬁﬁ BT mﬁ"ﬁ ? (Outstanding salaries 1,000, what
Journal Entry will be made for it?)
(a) Salary A/c Dr. 1,000
To Cash 1000
(b) Salary A/c Dr. 1,000
To O/S Salary A/c 1,000
(c) O/S Salary A/c Dr. 1,000
To Salary A/c 1,000
(d) dqéid'd "7 do\lsrﬂ%}f (None of the above)

14, GIET'I?TH% (Outstanding Expense is)—

(a) (An expense) (b) I (A Liability)

(c) 3T (An income) (d) Wﬁ@[ﬁéq—eﬁ (None of the above)
15. 3RW 3mg _%(Advance income isa .)

(a) gfd (Asset) (b) °UY (Expense)

(c) IR (Liability) (d)3TT (Income)

16. Wﬁﬁﬁm\_ﬂﬁmﬁ GIE?I'EIT{@ \_rllﬁil (Outstanding expense appearing in Trial Balance will
be placed in)-

(a) \’rﬂ%ﬁ@'{ﬁ (Balance Sheet) (b) IR JTar A (Trading Account)
(c) FIT“-[—ETET@'IHT (Profit & Loss Account) (d) dqgr,drd 7 dp\l'-::q?)[ (None of the above)

17. 3(UTH SBUT ATUR BT 2 1 (Bad debt is a of business.)

(a) oYY (An expense) (b) gy (An asset)

(c) IR (A liability) (d) \Nﬁd&‘l 7 m\léﬂ‘cﬂ (None of the above)
18. q\ﬂﬂ?l?ﬂq E’IT‘IT% (Prepaid expenses Account is a J)

(a) oY (An expense) (b) gy (An asset )

(c) IR (A liability) (d) \Nﬁd&‘l 7 m\léﬂ‘cﬂ (None of the above)
19. 3T A AT B BT T SfAT B ST ? (Loss by fire will be debited to ?)

(a) TR @TdT (Trading A/c) (b) faeat (Balance Sheet)

(c) ST BT 1T (P/L A/c) (d) YT (Trial Balance)
20. GI'Q%WW M & Gﬂﬁﬂaﬁﬁa% (A surplus of revenue over its cost is known as ) -

(a) ISl (Capital) (b) TTH (Profit)

(c) gy (Asset) (d) @ﬁﬁaﬁgﬁmone of these)
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21. mﬁuw%mm% (Trial Balance is prepared ):
(a) Iy & 3 H (At the end of the year)
(b) Wﬁ@ﬁﬁfﬁtﬁ (On a par date)
(c) HHILT Eﬁef aral aﬁ%ﬁﬂ (For the year ending)

(d) 'a' Td 'b' GFI (Both 'a' and 'b).

22. m?ﬂﬁlﬂﬁﬂlﬂﬁﬁaﬂ% (Agreement of trial balance is affected by :)
(a) b wwruefi 3{5@@?{[?[ (One sided errors only)
(b) W%—q&ﬂﬁ &rﬂ@m (Two sided errors only)
(c)'a' 3R b Eﬁ:ﬁ@[ (Both 'a' and 'b')

(d) SRIad H# I do\lsrq_ﬁ(None of the above)

23. ?ﬂ?@ﬁaﬁﬁmaﬁﬁ, IHY uﬁi@fﬁuﬁ‘qwﬁf@ﬁtﬁ?ﬁév (In the three Column Cash Book,

when does contra entry occur?)

(a) S T AHS BT MGV (Withdrawal of cash from bank)
(b) AFGRI Bl YT (Payment to creditors)

(c) aqﬁmamﬂﬂ%g il%@, hT HTGRUT (Withdrawal of cash for personal use)
(d) B'qgaﬂﬂ‘l-ﬂ (All of the above)

24, maﬁ%(Cash book is) :
(a)ﬂTﬂ:I'I'J:I?lT(AJournal) (b)maﬁ (A Ledger)
(c)'a" GﬁT b’ ?:a:h (Both 'a' and 'b') (d) ﬁﬁﬁaﬂéqﬁmone of these)

25. YT BT GITa'QT fora= arer safa &1 R hgl \_SITFIT%? (What is the person writing out the order

to pay called?)

(a) Wipdf (Drawee) (b) bl (Payee)
(c) CEIEEX] (Endorser) (d) [GECED (Drawer)
26. WR[&IH?ITWW% N is a deferred revenue expenditure.)
(a) &I (Donation) (b)a?F‘f (Salary)
(c)ﬁ?qu:f(Advertisement) (d) HXH oUY (Repair expenses)

27. S Srffaed WW% I (Bank Overdraft is an example of J)

(a) U (Asset) (b) IR (Liabilities)
(c) oUY (Expenses) (d) 3T (Income)
28. E:I'ﬁ@ﬂﬁq HIUHD dufd %? (Which of the following is a fictitious asset?)
(a) 4 (Land) (b) Hd (Building)
(c) ST (Goodwill) (d) URNG g (Preliminary expenses)
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29. sﬂﬁﬁaﬁq It uﬁﬁl'l'qa aﬁﬁﬁwqﬁ% ? (Among the following, which is not a feature of a

Promissory note?)

(a) 390 $Id ¢l UGPR B & (Only two parties)
(b) @W%@Tﬂ% (written by creditor)

(c) sﬂﬁmﬁ?ﬁrﬁwq‘sﬁfﬁ‘cﬁ (Acceptance not required)
(d) mmmﬂﬁww (Writer cannot be the payee)

30. faua =t Hﬂﬁaﬁf@rﬁrﬁﬁmﬁu&rwﬁév (How many parties are involved in case of discounting

of bill?)

(a) &I (Two) (b) T (Three)
(c) T (one) (d) SrIH (Unlimited)
&rﬁl?rg IR Uy (Very Short Answer Type Questions) 6*2=12

31.W@HTW$E&W”W| (Give two benefits of preparing Trading A/c)
32.@ﬁﬁmﬁﬁfﬁmw3ﬁaﬁw.(5tate two features of Balance sheet.)
33.WW$3WW$WW.($3E two methods of charging Depreciation.)
34.09® & TP H, TGP & gRI 8P I U YA ST § | 3BT Sl Uet a8 Give the

entry of discounting of Bill with bank in the books of Drawer

35.dd9C B Gl ﬁ:ﬁw&ﬁﬁ%@.mate two features of Trial Balance.)

36fam @1 &Wﬁaﬁ?{% ?(What is meant by honoring of Bill of Exchange?)
37.\}@%@_&@% ? (What is overdraft ?)

38. Q\Ichs_ EI_GQ[ g & &l Ty JdIU.(Give two Advantages of preparing Cash Book.)

E’gﬁ'ﬂ'ﬂﬁ?’[ (Short Answer Type Questions):- 6*3=18

39.@3 WW@WW% ?ﬁfﬂmﬁlﬂT% ? What is Bank Reconciliation statement? Why is
it prepared?
40,3791 @rdT @TWH@T&TW%W H-X ddIgU| (Differentiate between Trading a/c and
Profit and Loss A/c.)
41 ﬁwaﬁmw Give rectification entries:

A. W“@f 500 %. WE’QW STRYT & WId T STHT B f&TT T (A sum of Rs. 500 was received
from Kumkum but Credited to Aasthas’s A/c);

B. 1650 %. ST HIC ol 3IHYD ¥ 553 a1 a1 3, I SN & Wid H STHI &R fadm 1 8 (Goods
worth Rs. 1650 has been purchased from Abhishek on credit but Ashish Account has been

Credited);
SIRAUS IIISID 3rolielol ud UfsIsiur ufdvg, JAclt (it udtei) [351 : 2023- 2024] Page 5 of 8



42W$?ﬁqu | (Explain briefly three causes of Depreciation.)
43ﬁﬁmq‘q’$wuaﬂm | Explain the advantages of Bill of Exchange.
44@@[@%%@”@@3@ | State the merits of Straight-Line Method of depreciation
45.@%1'213@6@%’? (What are contingent liabilities ?)
46.TUDH UL GRI@EITWQI Explain Single Sided Errors.

a)f‘EfBT'I'\&q YUY (Long Answer Type Questions):- 4*5=20

47 e ORI 1 31U, 2020 BT 10,000 3T T WIS 7T | RITH THFT TGl & 3IHR 10% p.a
s BT HIed §U i ay o forg AR |1t s | WM Ufaa 31 fGer &1 §< fhu S €1

¢ A Machine costing Rs. 10,000 was purchased on 1st April, 2020. Prepare Machine A/c for 3 years

calculating depreciation @ 10% pa by Fixed Instalment Method. The accounts are closed every year

on 31st December.

48.130d, 2022 B UfAHT 3 AT & 5,000 F. HT ATA 91| 34T Ay 1 g A ufawm & gra
ford 5,000 %. & &1 AT8 & faU TR Ut Wil ¢ & | Uiy A ¢ fafd & faus &1 3= oy v
3R 37 fafd R I9®! dF & agell & g O fean| 39 R ufayT &1 &% 4 g1 a8 6
T 1 YA <o fafy o= e 81 Rl 8 1 ufauT a1 g a1 gt | AsHrEeT ufafdat s

(On 1st April, 2022, Pratibha sold goods to Sunia for Rs. 5,000. On that date Sunia accepted a bill

drawn upon her by Reena at 2 months for Rs. 5,000. Pratibha retains the bill till due date and on the
due date and sends the same to the banker for collection. In due course, Pratibha receives the
information from the Bank that the bill has been duly met. Pass Journal Entries in the Books of

Pratibha and Sunia)

49.%@?’5@39%03% dT 3R JdId | (Give the difference between Bill of Exchange and

Promissory note.)

SO.WEITSQ[ @YW%WQ’TW 3R & U BRI §dTU Explain five causes of differences

between the Passbook and Cash Book Balance.

51.e4 CARICECE T QH Hed G‘TIT% ? (What is the need and significance of depreciation ?)
52.31Td 2023 ﬁWE’QGﬁ%W %ﬁaﬁﬁﬁmﬁwamllowing is the Trial

Balance of Mr. Baneshwar as on 31° March 2023)
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Amoun | Amoun
ﬁaTUT( Particulars) t t
Uit (Capital) 10000
URfN® Jgfaar (Opening Stock) | 2000
JAHS(Cash) 1500
Y (Purchase) 9500
famy (Sales) 14500
HIGRUI(Drawings) 900
IIG?\P[ (Wages) 5000
'JZI'-‘Zﬂ:Iﬁ(Machinery) 3500
HUGE Y (Indirect Expenses) 200
3UIDX (Furniture) 6000
W(Rent) 450
AR /dFER
(Debtors/Creditors) 2700 1400
25900 25900

WW (Additional Information) :

(i) WW (Outstanding Wages)- 200%.

(ii) 3G /SDHTAT ST T (Sundry Expenses outstanding)-100%

(ii) Uﬁaﬁm (Prepaid Rent)-100%

(iv) 31-03-2023 T 3f~TH BT (Closing Stock on 31-03-2020)-3600%

31 AT, 2023 P JHTE §U T o forw STUTiRes QT ArH-g1f WTaT Ud 3 fafd o1 fRufa fgaror qar

WI (You are required to prepare Trading Account, Profit and Loss Account for the year ended 31st

March, 2023 and a Balance Sheet as on that date.)
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SIRUS D 3lofieiTol Ud Ufdrgrur ufve, il

qaiftie snreaidre uldien
(2023- 2024)
3R PiSIbT
ufcrcol Ut usl (a3forso)
Answer Key of Model Question Paper (Objective)
H&T1-10 fvg- ACT
Q.NO. | ANSWER | Q.NO. | ANSWER
1 D 16 A
2 C 17 A
3 B 18 B
4 D 19 C
5 C 20 B
6 A 21 B
7 A 22 A
8 A 23 A
9 A 24 C
10 C 25 D
11 C 26 C
12 D 27 B
13 B 28 D
14 B 29 B
15 A 30 A
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SIRAAUS IIf&IPD 3ofzitlTol Ud Ufdrgiur ufewe, il
arftfes ane=afdias usien
(2023-2024)
uferc 9t Ut Ul (aR<forss)
Model Question Paper (Objective)

[d

DEII-10 froRI- R AHI-03:00 TCT qurics-80
3IERRIoT

AL [01G9T:-

o U3tetreff rerisna 3uol orsai 9 IR Sl

Candidates should answer in their own words as much as possible.

o 19ft uat siforart 2l

All questions are compulsory.

0 el Uil bl A1 52 3l

Total number of questions is 52.

0 U%1 1 3 30 (D IBIADICTRI U%T & | U Ul & dR [dpey f&u o1u &

13! fdrbey ol TrIol HISRY| Ul Usst b fe1e 01 3idb forerifea 3

Question No. 01 to 30 are multiple choice questions, each question has four options. Select the correct
option. Each question carries 01 mark.

0 U1 3T 31 A 38 AP 3Ael o1 I3RI Usel 31 forid A fdboal 6 sl 1

3R Soll Siforart 31 UId UssT ol Alal 2 3 forelifye 3l

Question numbers 31 to 38 are very short answer questions. Out of which it is mandatory to answer any
6 questions. Each question carries 02 marks.

0 U1 JRCAT 39 A 46 AD ol IR U6l 31 F3R1 A fbodl 6 ussll o1

3R Soll SMTArR! 31 U UsST DI Alel 3 3D foreifyd 3l

Question numbers 39 to 46 are short answer questions. Out of which it is mandatory to answer any 6
questions. Each question carries 03 marks.

0 U1 AR 47 A 52 Sl 37131 U1 3l fdbodl 4 Uil B 3R Soll Siferare

31 U U%51 I Hlol 5 3(cb forerifeed 3

Question numbers 47 to 52 are long answer questions. It is mandatory to answer any 4 questions. Each

question carries 05Smarks.

1. U B BRI a8 eI 8l, 33D 18 IURTD 3 ( Suitable filing method for a firm which has
more customers, is) -
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(a) TSI WISEI (Vertical file)
(b) AR WIScI (Wire file)

(c) SloTol BISET (Shannon file)
(d) 3o1e1 A Asfl (All of these)

2. oAruIf¥eD Uil &I YR ........38.99 3 g ittt &
(Business letters are used for ........ purpose)
(a) IUIf¥D (Business)
(b) ATdSIfoID (Public)
(c) SAfTPaId (Personal)

(d) $o1di A DIS oIal (All of these)

3. uferferfraszut 5 & (Copying is called) -
(a) U>I cIxdol bl @l DI (Art of letter writing)
(b) UI &bl UfeIfeit ciol bl abell bl (Art of copying of letter)
(c) Umll bl WIsfeTor bl el I (Art of letter filing)
(d) 30191 A AsfY (All of these)
4. ¥didol AFIA & (Crossing is possible ) -
(a) AD DI (of Cheque)
(b) fAfoT91T faU>T I (of Bills of exchange)
(c) UfeI=II U5T I (of Promissory note)
(d) 30191 A st BT (All of these)

5. Urd Uil UR PRI bl Hls2 oI & difep
(Stamp of office is put on received letters for ) -
(a) U3l DI {l}'@lﬁ 331 SIT 3AD (To keep letter safe)
(b) UT I 3712 ofiE fS=IT ST 3D (Answer of letter quickly)
(c) UL I fA9TIeT e uIfel bl fe1fdr <i1e 21 3rcd
(Find the receiving date and department of letters)

(d) o191 A DIS oI8] (None of these)

6. S IJAGDI DI RATST oISk ‘ajﬁl?ﬂ% (Bank does not paid interest to customers on ) -
(a) T A U2 (Saving Account)
(b) EII(_V;\EI& 3 (Current Account)
(c) JATAfel SIHAT ATeT 3 (Fixed Deposit Account)
(d) 3Idel STt ATl U2 (Recurring Deposit Account)

7. Al Aret b gifer Ie1d ifErp1f¥=il bl crrurardt & drRu1 g3 & dl siferafd bl siresht ? (if goods is
destroyed by negligence of railway authority, compensation will be paid by)
(a) faBAT A (Seller )
(b) BOIUT A (Agent)
(c) 3T A (Railway)
(d) SoIdi A DIS oI3I (None of these)

8. oAIUIT¥D DRIICRI A5cAYUi 3, aIfD (Business office is important because)-
(a) $3M9 3[0I fASTIET 1A 3] (There are many departments in its)
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10.

11.

12.

13.

14.

15.

(b) PRITCRI A RIUIR DI fd=iuot &I SIIAr 81 (Advertisement of business is given from
office)

(c) 31 TGl 3 ABDI A AGRIdeR BIAI 3l (Good behaviour to customers from this place)

(d) 98T =IUIR U3 foRI51u1 ©d IFdIcTal 81T 31 (Controlling and operation of business)

U>1 oI Adiferm HEC_CIC‘[_\Uf 81101 fersnfSra fep=ar St 215 dr & (Main important part of letter can be
divided into )

(a) O HIGI 3 Bl (One part)

(b) ST HTIBIL 31 (Two parts )

(c) cAIGT 811811 3 (Three parts)

(d) ® 81191l 3 (Six parts)

A DI 3I6IIGVT 31 SIIAT 3 (Cheque is dishonoured ) -

(a) SId CIAD D B3AISR A 3loci2 3l (When difference in signature of drawer)
(b) SId AD 31reTeHt fe1fer T 81 (When cheque is of next date)

(c) SId &IGIRIISI 3 316c1= Bl (When difference in amount )

(d) 30191 A AsfY (All of these)

23l GIPHATOTDI URITD Blcil 8 (Cross indexing is used in ) -
(a) IS Al 3 (Card list)

(b) U1 G3AD 3 (Letter book)

(c) fSice delt g el 31 (Hard binding book)

(d) 3o1at A Al 31 (All of these)

SIdl U SIDER G2 SIDER DI bl cAfth @I 61T Sol I MG Sl 3, Al 3 DEd & (When
a post office orders another post office to pay amount to any person, is called)-

(a) AGIBITST (Money order)

(b) Gl¥cdd 3ifS2 (Postal order)

(c) I (Insurance)

(d) $o1di A DIS o131 (None of these)

AFYUT AGATRID FHel B Bog-fdeg & (The central point of whole business concern)-
(a) fAUUTGl Udoel (Marketing managements)

(b) ATATSIIRT Usloer (Personal management)

(c) 3cUIGol Udot (Production management)

(d) PRITCRI Udodl (Office management)

ggufcIferitra2ur w1 A1 Urcdlol G3T 3 (The oldest method of duplicating is)—
(a) foTCIfeor UuIetl (Gelatin method)

(b) citellerp uvuietl (Lithograph method)

(c) oAt UuTIett (Stencil method)

(d) 3iftp3de uvIrett (Offset method)

{531 U1 O 3R UR s a<ail bl ufef 3 3G9I SAT 37 (Customers give orders on the basis of
which letter ?)
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16.

17.

18.

19.

20.

21.

22.

(a) fo1xd BT (Quotation letter)

(b) IUBAIS DI U (Enquire letter)
(c) C([hl’(l“‘l U531 (Supply letter)

(d) 3IISG9L UST (Order letter)

Ao AFgoeht ust ford SIId 3 (Reference letters are written by)-
(a) 9D GRI (By Bank)

(b) A2 3iP DRI gRI (Chamber of commerce)

(c) RIUIf¥aD AFE GIRT (Trade unions)

(d) 30191 A Asft B GIRT (All of these)

ufeiferforaszor &b a1 AZ51 fafer 2 (The most expensive method of copying is)-
(a) BICI I¢T GIRI (by Photo state)

(b) DIl GIRI (by carbon)

(c) A3t A9MIGI G (by Rotary machine)

(d) $o131 A DIS o181 (None of these)

SIARIFD DI Dlol-2H1 dfdber I‘{:ﬁ{&ﬂ 3ucteeI a2 (Which banking facility is available to miner)
(a) S I DI (Saving Alc )

(b) areL A1 bl (Current A/c)

(c) cdfad2 BT (Locker)

(d) 30191 A AsfY (All of these)

diSTab 31 191 31feIas o191 SiTol UR fAdhdl GIRT Shdl &b UTA Dlol-AT TSI dolldb2 ISIT SITAT 5?2
(Which document is sent to the buyer in case of more price charged in invoice by seller?)

(a) SfeIe allc (Debit note)

(b) bfSc &Il (Credit note)

(c) dISIP (Invoice)

(d) $o1di A DIS o131 (None of these)

IS HolPATOTDI DI fASDIR fobT ( Card indexing was invented by)-
(a) Od AfSRIT of (Abbe Rozier)

(b) A of (Grace)

(¢) 36131 WIS ol (Henry Ford )

(d) 3I1&T deT of (Graham Well )

BIcS3 DI URIIST fabRIT SITAT 3 (Folder is used in)-
(a) TSI WBISCT A (Vertical file)

(b) CoT arcft WISeT 3 (Tag file)

(c) SloTol BISET 3 (Shannan file)

(d) Aogaparctl BIScT (Box file)

faforarr faret fdbads GIRT fe1ar SITAT 3 (A bill of exchange is drawn by ) -
(a) GOIGIE (Debtor)

(b) TIGIGI (Creditor)

(c) $o1di Glali (Both of them)
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23.

24,

25.

26.

217.

28.

29.

(d) 30191 A DIS SI8] (None of these)

Acdl arofior A uferferft su=nef 32 (Copying by rotary machine is useful for ) -
(a) PR cAIUIIAL & fe18 (Retailers)

(b) BIC RAMUITRII &P 18 (Small traders)

(c) IS AR & 10 (Big traders)

(d) B8P D fA1U (Customers)

SIDER AT STHT ANSToll d URFH bl 31$?
(When did the post office savings scheme start ?)
(a) AL 1979 3 (in 1979)
(b) A6L 1971 & (in 1971)
(c) Aol 1937 3 (in 1937)
(d) AoL 1982 3 (in 1982)

[4101185) Cﬁlf\ﬁﬂm 3191 BId & (Main parts of business letters are)-
(a) I (Two)

(b) AR (Four)

(c) 8: (Six)

(d) 313G (Eight)

fere1 & 15161 b fe1u fbetol ot RRrRIcdl fSot b 20U 3 161 SIIA 32 (How many days are allowed
as days of grace for payment of a bill?)

(a)2

(b)3

(c)4

(d1

DTS oIPHATVIDI B 3051 3 (Part of card indexing are)-
(a) 3> DIS Bd HIoIGR ACTARY (Guide card and Almirah having draws )
(b) oI DTS Bd WIOIGI ICTART (Name card and Almirah having draws )
(©) 3@0&21[%[ IS Ud JIoIGR 3ICTARI (Absent card and Almirah having draws )
(d) ol BIS, Ibd PIS Ud AI6IGIR ICTHRT
(Name card, guide card and Almirah having draws)

"PRIICRI RIUR 3 a8l #Ascd ]I & Sl TP T3 3 IR 3UST DI Il 31" AB DA6T 3? (" Office
is as important to a business what the main spring to a watch." This statement is given by)-

(a) IS DI (Dixy)

(b) 30131 WIS DI (Henry Ford )

(c) o131 eIl I (Henry Fayol)

(d) Soldi A DIS oI3I (None of these)

SIDUR S WAl fbetol AR 3 Il T ATol feRIT SIAT S ? (In what time a post office savings
account is considered incorporate account ?)

(a) cftol ad (Three year)
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(b) ufa ad (Five year)
(c) AT ad (Seven year)
(d) 30191 A DIS GI8] (None of these)

30. 50,000 UferIt clol & fere Aatas 3
(covrossensens is suitable for 50,000 copies) -
(a) fTelISI® (Lithograph)
(b) cIsu E\ﬁ%ﬂﬁm (Type setting duplicator)
(© ﬁEﬁ\@FﬁﬁT@ (Rotary duplicator)
(d) ACSIBD (Multigraph)

3ﬂrﬁﬁg IAIRT U%T (Very Short Answer Type Questions)
31.31G9I UST TR=IT & 2
What is an order letter?
32 Dol AL AlSToll U2 fopoll RAGI 62 3 ?
What rate of interest is allowed on Sukanya Samridhi Yojana ?
33.¢I¢ ®Iscl O ol 9pul fe1lRaul
Write two merits of flat file.
34.dp bt ufssm SIS
Define Bank.
35 RIUIT¥D DRI DI i3It Hifse |
Define a business office.
36.fafoIIRIAERT U aRIT 3 2
What is a negotiable instrument?
37.3¢ & fe1e 3ugep sguleiiciitiap2ut uIrett oI ol1et aersel |
State the name of suitable duplicating method for Urdu language.
38 IR 31 IACCRIDA Al DI AT fpetoll 8?2

What is number of nationalised banks in India ?

og 39T ged (Short Answer Type Questions):-

39.AIb IR S1GICDATUICDI TR & ?

What is wheel indexing?

40.dDi DI Hacd felRae

Write the importance of banks.

41 IUIf¥D DRITCRI i TRII TAADAI 57
What is the need of a business office?

42 IUI¥D U5 b fdboal 4 3061l &b o fe1fRau)

Write any four parts of a business letter.
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43 3ol b UDR feilRae

Write the types of crossing.

44051 dI8D AP & o9l ferlae

Write the advantages of peon book.

45.1OTDRIA UAT 1ol O IRIT DRI &2

What are the causes of writing the complaint letter ?

46 IIc1 ZId P s[ul ferlRau
Write the advantages of a current account.

ST 33T UG (Long Answer Type Questions):- 4*5=20

N OO N ~N AU N N e Y

47 81peR d fdforilsiol Asdotdt [dffioot Alstond fetlRav
Write the various schemes of investment in the post office.

48 SATAIRID b D YR DI I quiol HIfSTel

Describe the main functions of commercial banks.

49 DRIICRI IoIcal b Brglodl bl IR HhifSIu]

Explain the principles of office organisation.

50.dD P 3HoIIGUI D DRUII Dl RIRRIT HISIE |

Explain the causes of dishonour of cheque.

51. faforert fdet a=u &? 18 ufersin ust A fdb31 UDR f#ieot 37

What is a Bill of Exchange ? How does it differ from a Promissory Note ?
52, RIMUI¥D U5t &b DRI Dl AHSISA|

Explain the functions of a business letter.
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SIRIAUS 9181 3olRielel ud ufdrgrur ufsvg, el

aiftiep sre=ifdren ullen
(2023- 2024)
3R PiSInT
ufergol utst ust (a¥dforco)
Answer Key of Model Question Paper (Objective)
HET1-10 fwg- BST
Q.NO. | ANSWER [ Q.NO. | ANSWER
1 A 16 D
2 A 17 A
3 B 18 C
4 A 19 D
5 C 20 A
6 B 21 C
7 C 22 B
8 D 23 C
9 C 24 A
10 D 25 D
11 B 26 B
12 B 27 D
13 D 28 A
14 A 29 B
15 A 30 C
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